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Answer any Five questions. Question No. 1 is compulsory.
All questions carry equal marks.

Give short answers to the following questions :
(@) Why is the air in the grand mother’s house described as “frozen?

(b) Who are the two impostors referred to in the poem “If"? How should the son deal with
them?

(c) Give two examples of simile from the poem — “If".

(d) What does the poet (Derozio) want to do for his country?

(e) What did Nanukaka do at the minister’s residence?

(f) How are Jim and Dell’s gifts ironic for each other?

(@) Why did the Indians always blame the British for their suffering?

(h) What is the tendency of Indian Civilization?

Write a summary of the poem, “To India-My Native Land”.

What are the main ideas of the poem “My Grand Mother’s House"?

What preparations did Nanukaka make to meet the Welfare Minister?
What are the salient features of Indian Civilization?

What do you understand by a lyric? Describe any lyric that you have read.
Write a letter to your father dealing with your aim in life.

Point out the guidelines to be followed in formal letters.

Write an application to the Controller of Exams for issuance of the duplicate Marksheet.
Fill in the blanks with suitable verbs:-

(i) Each of those dresses .................. beautiful (is/are).
(i) Measles .................. a dangerious disease (is/are).

(iii) The police .................. searched the house (has/have).
(iv) Nonews............. good news (is/are).

(v) The number of mangoes .................. fifty (is/are).

(vi) Here .................. the three cakes you orderd (is/are).
(vii) Each of the girls .................. a watch (has/have).

(viii) Each boy and each girl .................. needy (is/are).

(ix) Thecattle .................. grazing in the field (is/are).

(x) Two of the boys .................. gone home (has/have).
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Time: 3.00 Hrs. Full Marks: 80

10.

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.
fel dfd el & IR SINTT | e Fo—1 AfYard B | 9 wel & 3fd 9+ € |
Candidates are required to answer all the & objective questions. Each question carries
2 marks. Mark (\/ ) for the right answer.
wereff |t 8 TRITe—ueE &1 IR ARTY | TS T B 2 3P § | 9 fAbew & forg (V) @
[ERICRIEN

(i)  Who commented “Political Science begings and ends with the State.”

g feuoll f&as &1 7 : AN S BT 3R™ IR o I5g & A1 BT & |
(@) Garner TR (b) Gettel T
(©) Jellinek Siferian (d) Lowell dfdet

(ii) Who has commented ; “It is only in the world of duties that rights have segnifeance.”

I feuoll e a1 8 | “waadl @ g # IRl @1 A B I
(a) Laski ofrRab! (b) Barker I}
(c) Bosanquet drHId (d) Wilde diges
(i) Who has said : “Man who does not live in society in either a beast or a God”
foras Per T “afdd S FHST § 8 ¥8dT © 98 IT af SR © AT SR |
(@) Aristothe 3R&] (b) Plato w=fer
(c) Rousseau ¥ (d) Locke @&
(iv) Who define law as the command of the sovereign?
[T BT DI A S AR & Y H GRITNT fHar g |
(a) Austin 3TRET (b) Bentham =
(c) Holland gfcie (d) Wilson e

Tick Right (V) or Wrong (x) against the following statements :

1 Bl & et FET (V) 31T TTed (x) BT fafed #Ifg |

(v)  Switzerland prsents the best example of Direct Democrocy. Right/Wrong
RIcsRele T8 UoTa—= &1 Farad Sel & | eI/ Ted
(vi) Britain is a federal State. Right/Wrong
faeT e g =g 2 | R/ el
(vii) Judiciary interprets the Law. Right/Wrong
=T UTfThT B B ARAT BT © | REVAISS!
(viii) In Presidential system President is the real head of the executive. Right/Wrong
JIETLTTHD TUTTT H T BrAuTfeldT BT dRdfdd Ue= 8idr 8 | T/ Terd

Define Modern Political Science and discuss its scope. High light the difference between Modern and
Traditional Political Science.

JAMYFTH ASTHIRT ARA BT IRAINT PINIT Td $Hd &F &I =l DIQ | IS Td aR™ARS
I fIS & R R Ut Sifery |

Describe the relationship of Political Science with history & economics.

RIS a9 &7 S dor sl & |1l ¥l &I aui By |
Critically examine Austin’s theory of Sovereighty.

IMREA & T RIGId @ T THd AR BT |

Define Democracy and discuss its merits and demerits.

USITd= B YRAINT HITQ AT $9@ 011 UG 30N &1 guiF BIfoy |
Describe the merits and demerits of parliamentary system of Government.

AT AT YOTell & 0T UG Q1Y Pl o By |

Discuss the different dimention of Jusitce.

=R & A= Ml &1 9o BT |

Define Liberty, what are the methods to safe guard liberty? Discuss
AT BT AREINT IR | =l & R & a1 AR § 290 BIRTY |
Define Law and describe different kinds of Law.

B BT gRINT HITY T HTA & I ISR &7 9o DHIRTT |

Write an essay on Social Justice.

ARSI R Uh A= failRkaw |
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Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory. All questlons carry equal marks.

1.

10.
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(x) SRl g™ fow B § e grar ¥
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(xiv) TSGR H fashamei @1 wwr ifdd el § |

(xv) WY TGO AT H iR BT ¥ |

(xvi) AT B D! HAT & Il YREPR H TSl g1 Sl © |

Describe the main functions of money.

T & I BRI BT qUE BIIY |

Critically discuss definition of Economics given by Marshall.

AT ERT <1 s JAAURS P URHNT &1 TATIATHD ARAT BT |

Explain the law of demand. Discuss its exemptions.

AN & TR @ IR HINY | $9@ AUaT&l &I [qde= T HIfsTg |

Define monopoly. Discuss its characteristics.
UHITDHR & GRETYT ST | 39! faemdrei @ fada=r $ifsg |

Describe the Keynesian theory of rate of interest.

BT B Tl bl RIgiva B ARAT BT |

Discuss the Characteristics of mixed economy with reference to India.

TRT & ded § A3 o) gazem &1 faedmen &1 aui= #ife |

Explain Characteristics of a good tax system.

T e HR UTTel @) faRivdmll &1 avi SR |

Discuss the merits and demerits of sampling method.

uferael R & TUrar} @ RREe €T |

Distinguish between money wage and real wage. What are the factors influencing real wage.
Aifgd ASTR] TAT IRKAd ASGY | 3R 1Sy | aR<Ifdd HoIgY! DI FHITId HR+ arel
d g 87

seskosk skeoskok ok



Nalanda Open University
Annual Exam - 2021
Intermediate of Arts (I.A), Part-I
Logic, Paper-I

Time: 3.00 Hrs. Full Marks: 80

(ii).

(1i1)

(iv)

™)

(vi)

(vii)

(viii)

(ix)

(x)

Answer any Five Questions. Question No.1 is compulsory. All questlons carry equal marks.

forgl dfa gl @ IO forRau | yee Fo—1 siffard © | 9 U=l & 3ih 9a © |

Answer all the following sixteen objective type questions by selecting the correct answer of
each question.

HEI IR BT I B 8Y, JEIRad F1 16 IS Tl B IR QIO |

The subject matter of Logic is (Tpeme w1 favg 9wy @)

(a) Inference  (STgHM) (b) Knowledge (5™)

(c) Perception (wee) (d) None of these (7 & ®E 2)
Logic is concerned with (GEZUr=MCH B i Sl

(a) Only formal truth (F= oTEIRE I H)

(b) only material truth (7= ardfa®s g #)

(c) both the above (S ami #) (d) none of the above (SRR fRelt & &)
'Logic is the science of all sciences are art of all arts' who said this?
‘e s w1 S dem wanelt @ wer 317 g8 AT HEa 27

(a) Thomson () (b) Hamilton (&ffees)
(¢) Duns Scotus (3 wwhieq) (d) Aristotle  (s13%q)
The connotation of a term is (fFET 9= =1 IoTaT=RHar )

(a) Is extension (So=® TER)

(b) Its common and essential qualities (SHsr am= wd e o)
(c)Bothaandb (agamr bami) (d) None of these (7% & @E &)
The term 'Blindness' is (e7ema=r 9= &)

(a) Privative (wgarder) (b) Negative(sT+mar=)

(c) Positive (srareTes) (d) All the above (SRR a+i)

A Logical Proposition consists of (d& aifhes a3 2T 2)

(a) Three parts (= ) (b) Two parts (31 i)

(c) Four parts (=X i) (d) Six parts (s: 1)

A propositionisa  (FEarEa )

(a) Judgment (usp footar) (b) Grammatical Sentence(=mH¥eT @1 )

(c) Judgment expressed in Language (Wrsm ¥ =g fof)

(d) None of these (7 ¥ ®E 2)

'Universal negative proposition' distributes its

gl e dar H oA B[ e

(a) Subject (SE=9) (b) Predicate (Ferern)
(c)Bothaandb (adem baMi) (d) All of the above (SWRrErR @)
Symbol of Universal Affirmative Proposition is

qoieATdl eI dhardd W Hed o

(@) A () D E (2) (©)1 (o) (d) O ()
'Peace is the absence of war! In this definition the fallacy is:

gE H A9E A 2 TE ARG H AW B

(a) Figurative definition (SATRIR® 9wt )

(b) Negative definition (Fiyarees o« =)

(c) Logical definition (afepes afkwmsT =)

(d) Too wide definition (efy = ofrr =)

[P.T.O.]



(x1)
(xii)

(xiii)

(xiv)

(xv)

(xvi)

10.

Which of the following is not Copula? (Fr=feifed & %M @doh 98l 27)

(a) Was (em) (b) Am () (©1Is (?) (d) Are ()
The logical relation between E and O is of

EqanO% aifes a=ra B

(a) Contrariety (Fradiaan =) (b) Contradiction (zmmema =)
(c) Sub contrariety  (eTgfaadiaar =) (d) Subalternation  (Swfzraar =)
The conversion of E propositionis  (E d®amea &1 sTecH 21 )

(a) A(w #) (b E (z ) (c) I (e ) (d) O (st )

An inference is a syllogism if it has (®12 oga= =g & af)

(a) Three terms (SEH a9 w' 2 2) (b) Two terms (IFH 31 9T BN )
(c) Four terms (Fad = gz 2r @) (d) Five terms (IE d= 9g BN E)

EA is a valid mood: (EA us Zemef amm )
(a) In two figures (BHt sTmERRT #) (b) Only in one figure (Faa THh THR H)

(c) In all the figures (| eT=PRI #) (d) In no figure (EasiiRc 1o Rl i k)
A can be a conclusion only in the (A fr=pd 21 @®Ha1 & A9)
(a) First figure (e AR H) (b) Second figure (f<fiar ompR #)

(c) Third figure (T TR ) (d) None of these (3 ¥ = )

Explain the mutual relation of the connotation and the denotation of a term.

T Ug @1 aRgaradar 3R IoMEredd] H IRER T Bl ARAT DITY |

What do you mean by Dilemma? Explain its different kinds.
fafag 9 oy w1 99 2?7 g9a A= UaRi @ r e |

What isa proposmon? Dlstmgulsh between logical proposition and a sentence.
dhared fhd ®ed &2 dhdra Td TR P IR H IR T D §|Q |

Give the logical character of the following terms.

fraforlRad ush & aifds & Idensy |

Explain Inference and its kind in brief.
A Td IHD USRI BT Fiera H ARAT I |

What do you mean by Dilemma? Explain its different kinds.
fefaer & oMy w1 ¥ 2 ? s9e fAf UeRI @ aren e |

Test the following (Fr=iifea =1 it =ifsTa)

(a) All rich Persons are not happy. Therefore all happy persons are not rich
il o=l Afea gEr qet e[ 8 | of: 9+l gEl &k e el e @ |
(b) If there is Sun, there is light. There is no Sun. So, there is no light.

gt gF 2 AT umI 2 | gh qE T | G um el e |

Change the following into their logical form and point out the terms distributed in each of
them.

Frfafaa &1 aifds ©9 § aikala &8 J9r 399 arg 9g $l Saesy |

(a) Every man is mortal (vrp A9 "YoEha )

(b) A few men are intelligent. (& % Ag= dew1 gha axT )

Explain and illustrate semi-logical fallacies.

Ag—difbd Y P ARAT AGTERYT BITT |
g 4 4



Nalanda Open University
Annual Exam - 2021
Intermediate Arts (I.A), Part-I
Psychology, Paper-1
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.l is compulsory. All questions carry equal marks.

forgl Ufa YTl & SR 9T | Y99 Ho—1 sifv@ard 2 | 91 uei & 3fp @9 € |

1.  Answer all the 08 objective types of questlons Each question carries two marks.
T 08 TS U BT IR AIRIY | TS U2 & QT 3 8 |

(1) Who is the first psychologist, 1ntr0duces in prospective method?

JiReTor fafr @1 d v fha wHase = FaueM ganT # or ?

(a) Ebhinghaus : UfdTEr (b) Wundt: g=<

(c)  Pavlou : Uaca (d) Willam James : faferaq si=a
(1))  What is the oldest method of psychology.

AR @ ®iF W yrd=ad fafyr g 2

(a) Introspection : 3rifReroT (b) Behaviour : g8

(c)  Observation: : fRer (d) Experiment : T T
(iii)  Which of the following is not a monocularcue?
T ¥ DI U <3 Heba el 87
(@) Shadowing : BT (b) Interpostion : 3id:Rerfa

()  Retinal disparity : 3feTyceld faf=ran
(d) Texture gadient : g Yd-Idl
(iv)  Which of the following is not related to in born motive?
ffaRe § & &9 STornd IRom | a8 2?
(@) Thirst : 9™
(b) Power : |
(c) Hunger : {9
(d) Sex:dH
(v) Who belives that “Forgetting” takes place due to lapse of time?
faedT 79T © & faeReT” |98y §id9 & BRT BIAT 27
(a) Pavlov : Udcta (b) Ebbinghaurs : U8
(c) Jenkins : SIFfdb=a (d) Kohler : ®IgeR
(vi)  Which of the following is not a part of inner ear?
fifed § A B9 31T BT BT AIT F&T & ?
(a)  Cochlea : Biaeian
(b) Meatus : @gx
(c)  Oval Window : 3f€T®R Ras®!
(d)  Semi circular Canal : 3fgIel ATell
(vii)  What is the duration of long term memory.
Srerfers Wia @1 @ @1 g ?
(@) 4 Minutes : IR e (b) 1 Minutes : (& e
(c) 3 Minutes : A9 e (d) None of these : 378 ¥ ®Ig gl
(viiil)  Who developed first verbal text of intelligence?
gfE & I STe URIE0T B G Ugel fhasT [Awiyd faar ?
(a) Binet : fa= (b) Simon : ATIHAT
() Bartlett : 9icaic (d) Terman :cIHA

P.T.O.



2. Define Psychology? Explain its subject matter.

HATISIE & WHTST ST | 596 v 9 &1 fademr &) |

3. Discuss merits and demerits of experiment method.

IR Ay & o1 qNl B AT B |

4.  Describe the structure and function of Spinal Cord.
YT & FaC Gd HIT Bl goiF PN |

5. Discuss the structure and function of human eye.
g G B GG UG Bl Dl oI BN |

6.  Critically examine trial error theory.

AT & TI— G & aar o |

7. Discuss cannon Bard theory of emotion.
T & o drs NG & AT Y |

8. Explain factors determining for setting.

foeRor o1 IR oA 9Tt deal &1 ARAT BN |

9.  Discuss various traits of Personality.

fdq & fafe= Sfermgen &1 aoi| & |

10. Define intelligence? What do you understand by 1. Q. ?
gfg & o < gfg—<fr & oma @ Fwe § ?

d 4 4



Nalanda Open University

Annual Exam - 2021
Intermediate of Arts (I.A), Part-I

Paper-1, History (Ancient and Medieval World)

Time: 3.00 Hrs.

Answer any Five Questions. Question No.l is compulsory. All questions carry equal marks.

fr=gl dfg ysl & SR U | usd Ho—1 ifFard 8 | 9 uei & 3fd @9+ & |

1.  Candidates are required to answer all the 16 objective questions. Each questions carry 1 mark.

N 16 RIS Ul BT IR ARTY | IS T & g 1 3id 2

Full Marks: 80

Please tick (V) against true/correcte statement. (98] adaqed & A= (V) BT f2m9 e 1)

(1)

(ii)

(iif)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)

Mesopotamia is situated between two rivers Tigris and Enphrates.

FATATCIHAT SoTclT 3R BRIT AHD gl Al & dra IaRkerd g |

Plato was the author of the book 'Republic'.

RufécTes wH® &I BT ol wicl o |

Ninebeh was the capital of Assyraian exmpire.

fradg SRIRYITE AmESy & IISET o |

Ashoka was the founder of Mourya dynsty.
AR AHTT BT AU ARND o |

Siva was the male diety to be worshiped in the Indus Valley.
g a1t Igar § goy qaar Rra @ gerr sl o |

Rome was founded on the Bank of River Tiger.

RIH TR B IATGAT SR a1 & fbIR gg ol |
The god Osiris was worshipped in Egypt.
MR <aar &1 gorr A § gl o |

Pre-Dynatic period is not associated with history of Akkad.
RISTe Gaehlel 3fdhs & gicerd A FHId T8l g |

Homer stated that Egypt is the gift of Nile.
BFR &1 gaaed 1 s fsr g 7t & 2@ 2 |

Greece was divided into a large number of city states.

A d TR AT H Ao o |

Hammurabi was a law giver.
ERIRIEN DI AfeT BT ST o |

Ancestor worship was associated with Egyptian Civilization.
R g fAsm &) wwar § g7 8o B |

Sargan was the king of Sumeria.

AR GHRAT BT ST o7 |

Greece was divided into a large number of city states.

A b TR AT H Ao o |

Chandra Gupta Maurya was the founder of Maaurya dynasty.

A1 AT Bl WA T q o |

Confucious belongs to Egypt.
HHIRREN i &1 I8 arerr o |

(True/False)
(@1 / et
(True/False)
GEVAEH)

(True/False)
(et / Tera)

(True/False)
(T / TTera)

(True/False)
(@1 / Tera)

(True/False)
(@t / Tera)

(True/False)
(1 / Terd)

(True/False)
GEVAIEE)

(True/False)
GEVAED)

(True/False)
GEVAIEE)

(True/False)
GEVAIEE)

(True/False)
GEVACH)
(True/False)
GEVAICK)

(True/False)
GEVAIEG)!
(True/False)
GEVAIEK)

(True/False)
(et / Trera)

P.T.O



10.

11.

Write an essay on the Life an teachings of Lord Mahavir.
WA AR & S 3R Iuel R Uah ey faRay |

Evaluate the impact of Hyksos invasion of Egypt.
A1 R RHA| MHHAT & UG BT &I DI |

What do you know about the effects of Kassites role in Mesopatamia.
PSS TP B Y9d & dR § T T O © |

Egypt is a gift of Nile, amplify the statement.
ffs1 I 98 BT 29§ | BF DI ARG DI |

Show your acquaintance with the religious reforms of Akhnaton.

I @ TS GERT & 1 o o= gy |

What do you know about the contributions of Sumeria to the Word Civilization.

faeq AwIar @1 GARAT B <4 & IR H AU R S 8, 2

What do you know about the position of Women in the history of Babyonia.
Jeenfrar & sfoemr § RAT @ Rerfa § ama @ S 27

What do you know about the place of confuscious and Laotse in Chinese history?

I & e H FHRIENT SR ATl @ WIF & N ¥ 39 &R oid & ?

Anlyse the causes of the downfall of the Gupta Empire
T AT & U & BRON B [Jar ax |

Write a not on the Rajput Policy of Akbar.
JHIR HI MoTqd M IR T femoft ford |

d 4 4




Time: 3.00 Hrs.

Nalanda Open University
Annual Exam - 2021
Intermediate Arts (I.A), Part-1
Sociology, Paper-I

Full Marks: 80

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

forgl dfg gl @ IO forRau | 99 Fo—1 Sifvard 2 | ¥ UsHl & 3fh TAE © |

1. Write Right (\) or Wrong () against all the statements given below :

Ao forg Y womt o1 |E (V) a1 Tora (x) fafed iR |

(1) Sociology is the study of social relationships.

TATSTITA ATHINTG vl BT e © |
(i))  Culture is learned behavior.
HEHi HET g aER ¥ |
(iii))  Marriage is an institution.
faare T e ® |
(iv)  Associations are organized human groups.
AfAfRt Srfed w9 g 8 |
(v) Family is a group.
IRAR UH FE § |
(vi)  Caste is a close class.

ST T v 9 7 |
(vii)  August Comte is called the father of sociology.

IMTRE BIFC BT AT A BT SId Hal ol & |
(viil)  Social control maintains social order.

AT RIS AT § Sawel Rl © |
2. Discuss the relationship between sociology and Anthropology.

THATSTIIRG AT AR & qH - 9ard |

3. Define group. Discuss the features of secondary group.

e @ aRAT < | T g @1 faeiarell & fagemr o8 |

4.  Define family. Discuss its important features.

URAR &1 IRATYT § | $9d T BT Bl Il BN |

5. Define caste. Discuss its characteristics.

ST & aRYTST < sHd! favmds & [da=r & |

6.  Discuss the biological factor of social change.

AR IRTAT & Siddhld BReb Pl fadaqT o |

7. What do you mean by social control? Discuss its different agencies.

(Right/Wrong)
GEVAIEE)
(Right/Wrong)
(@ / Ter)
(Right/Wrong)
(W / Terc)
(Right/Wrong)
(e / Terd)
(Right/Wrong)
(W1 / Terd)
(Right/Wrong)
(@ / Terq)
(Right/Wrong)
(@ / Ter)
(Right/Wrong)
GEVAIEE)

AT =107 | 3T T FH8Id & 2 59P (A= SIfhRi &1 Qda-r &3 |

8.  Define institutions and discuss its characteristics.

AT HI GRITYT < TAT STHT fI2Sdr g |

9.  What is social stratification? Discuss its lases.

IS FARIBROT RAT & 7 SHD IMYRT BT fAde=r & |

10. Write short notes on any two of the following:
frfalRaa & 9 sl < W <fera fewfordt fod —
(@)  Association ()
(b)  Community (F95T3)
(c)  Civilization ()
(d)  Folkways (S-9Ifq)



Nalanda Open University
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Intermediate of Arts (I.A), Part-1
Geography, Paper-1

Time: 3.00 Hrs. Full Marks: 80

1.

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

foogl 9 geal & Sax foIRRau | ued Ho—1 gl & | @1 9ol & 3 FAE © |

HE IR BT I B gY, IEIRad T 16 RIS Ul BT IR QoY |

Answer all the following 16 objective questions, by selecting the correct answer of each
question.

@)

(iii)

(vi)

fa=faRad § 9 & WRdeR /dawdl gge 27

Which of the following is a Sedimentary rock?

(a) U9ET (Granite) (b) d9Tee (Besalt)

(c) T (Slate) (d) 9] 9 (Sand stone)

fforRed 5 9 &9 de9 AT gdq 27

Which of the following is the oldest mountain?
(a) f@Hrer@ (Himalaya) (b) B (Rocky)
(c) TUMSS (Andes) (d) S3RTEel (Aravali)

9Rd PT a1 Bl YSR AT 272

The Deccan plateau of India is made of

(a) < (River) (b) YaT (Wind)
(c) fEH9EY (Glacier) (d) <mar (Lava)

fefaRad afeal § | @19 swier § Red 87

Which of the following rivers is located in Africa?

(a) Mo (Amazon) (b) el (Nile)

(c) T (Ganga) (d) @FTEr (Hwangho)
JUIRTR el fhd Agewr H Rerd &7

In which continent Superior lake is located?
(a) <f&roT 3RS (South America) (b) 3BT (Africa)
(c) URRI (Asia) (d) ST 3MRBT (North America)

f=faRag 5 9 19 T8 FERITRY 9d ORT 87

Which of the following is the warm ocean current?
(a) eSTSR (Labrador) (b) @RI (Canaries)
(c) TeHEH (Gulfstream) (d) ITeT (Benguela)

(vii) TR AR dal Rerd &7

Where is Sargasso Sea located?
(a) eI HENR ¥ (In Pacific Ocean) (b) dreife® #eMFR ¥ (In Atalantic Ocean)
(c) “FIAFR H (In Mediteranian Sea)  (d) 2<% #8MFR # (In Indian Ocean)

(viii) gAY fF AT @7 e 27

Which Language Tsunami belongs to?
(a) STl (Japanese) (b) AT (Chinese)
(c) ®IRAE (Korean) (d) ¥R (Indian)

gTH & B g gorTefier 87

Which of the following rocks is soluble?

(@) 9Tl IR (Sandstone) (b) AT YRR (Limestone)

(c) ¥ (Shale) (d) @iITArRE (Conglomerate)

See Back Page



10.

(x) U B ARG ART H JUREH BT &I AR RIT 87
What is the main agent of erosion in major parts of the earth?
(@) 9¥ (Wind) (b) =8dT g3 ST (Running water)
(c) fBHFY (Glacier) (d) YT S (underground Water)
Prod ¥ QY T Sugad vl H Rad w@IrHl $1 g Biforg —

Fill up the blanks by suitable words given within bracket :-
(551 [ SR U H SIS BT kg H 991 BRI 2?7 (A /A ARN)

............... Climate region experiences rain fall during winter seasong.
(Monsoon / Mediterranean)

(Xii) TS TER e # Rerd g (@mpiar / Tfenm)
Suez Canal is situated in ............... . (Africa/Asia).
(Xiii) THTARRIT TAAR] TR oo & Jared # fafredr ord aRar & |

(B9t /SR )
Meditarranean climatic region specialises in the production of ............... .
(Rice/Citrus Fruits)

(xiv) AT BT Fed g1 FAqD 2 | (WRd / #Aicia)
............... is the largest exporter of Tea (India/Sri Lanka)

(xv) 3rIRET Tdd .o P e oy uRrg € | (Il /I 37a%D)

Appalachian mountain is famous for the production of ............... . (Coal/Iron-ore)

(63%) R SISl U<el H AN gui 8l 8 | (Ryad X/ Ar)

............... Climatic region experiences rain fall all the year round. (Equatorial/Monsoon).

YISl BT IRMINT SIRY T g9 [ 9%g &7 auid SIS |

Define geography and describe its subject matter.

UXdaIX d%l"lf BT qUIF Bl %ﬂQ |
Describes edimentary rocks.

fafor faf & MR WR uddi &1 AT BT q2 ydh &1 Gerd faavor e |

Classify mountains according to their mode of formation and describe each of them briefly.

qqe & BT I fAdeET HIRY |

Discuss the works of wind.

IRJHSE B [REAT BT fdaR0T S |

Give an account of the structure of atmosphere.

SARITST D SO 8l 87 39 IHRI BT [qaRor GfRIU |

How are tides caused? Describe their types.

faeg # =19 1Er Hiv! & IARH qAT fAART HI JoiF BT |
Describe the production and distribution of either rice or coffee in the world.

HYAT IS IHRBT AT IR H HIIAT & IUGH g fIaRo1 BT fdaror R |

Give an account of the production and distribution of coal in either USA or India.

IRA H Gl TN DI RAYAT & BRI D] [q==1 BTG |

Discuss the factors of localistion of cotton textile industry in India.

VA
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Y e ¥ o, i vd qd @S | Uh—Udh e Bl T B gU
G UiE Yol & SR ffay | 9 e & ofd wHe €

TH G

1. MR RAYSH 98 &1 d@a [aevdr ©R garer Sifely |
2. T AHIET yomell’ dl fARIaaell U yehTel SIfery |

3. TORSl & el el b1 AR gy |

4. 'WESTEl B ARY BT AR YA DI |

5 ¥ MR AN BBl BT AR YK DI |

6. Tsh W EY Pl A< W UBRT Sy |
[ERIRIRES
7. TR A B ARG R W e sifey |
8. 3MENG dAlcd B YUY BT JIE BIRTY |
GRIERCS
9. wfdddradl & g &1 Wl uRe wRgd SN |
10. HfJ HU H, HIRGE AT GG & fAGH B B DI |




Nalanda Open University
Annual Exam - 2021
I.A/1.Sc./1.Com, Part-11
Language & Literaure (English), Paper-II

Time: 3.00 Hrs. Full Marks: 80
Answer all questions. The figure in the margin indicates full marks.
1. Write an essay in about 250 words on any one of the following:- 20
(a) The book you like most (b)  Pollution

(c) The importance of modesty  (d)  The value of English
(e) Covid-19

2. Write a letter to your mother advising her to take care of health. 15
Or
Write a letter to your brother advising him to care for his studies.
3. Fill in the blanks with suitable prepositions:- 5
(a) Letuspray.................. god daily.
(b) They are going there .................. foot.
(c) Sheisrunning.................. the road.
(d) Donotpreventme.................. going there.
(e) My teacher is discussing .................. the poem.
4.  Fill in the blanks with appropriate determiners:- 5
(a) Shakespeareis .................. greatest poet and dramatist of the world.
®) Man is mortal.
(c) Mother Teresaloves .................. poor.
(d Heis.....covvennnnnn.. university professor of English.
() e, honesty is the best policy.
5. Change the following into Passive Voice:- 5

(a) Who made the earth?
(b) Obey the parents.

(c) Ram killed Ravana.
(d) TIteach English daily.
() Serve the nation.

6.  Change the following in Indirect Speech:- 5
(a) The teacher said to me, “Follow the rules of English grammar”.
(b) My brother said to me, “Work is worship”.

(c) The doctor said to the patient, “Take medicine daily”.
(d) The Principal said to me, “Come to College daily”.
(e¢) She said to me, “What is the matter”?

7. Use the following words in your own sentences:- 5
(a) Syllabus (b) Examination
(c) Mask (d) Vaccination
(e) Powerful
8. Fill in the blanks with ‘shall’ or ‘should’ as the case may be in the following :- 5
A We....ooooovienennn. walk in the morning daily.
(b) They.....cevnnennn.n. give-up smoking.
(S 1 appear at the examination.
(d She.................. not run on the road fast.
(©) e we go there the next day.
9.  Fill in the blanks with suitable verbs:- 5
(@) They......evnnennn.n. there yesterday.
b)) You.................. known to all.
© T, not like him to all.
(d Wehave.................. there by the train.
©) v not make a noise in the class.
10. Translate into English :- 10

PRI & °Id T & | W AT 38 S € | BHN AR 3fqed Ug+ | BHANT AHINTD
o W IR R | 3BT S T H gAT o |
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Political Science, Paper-II
Time: 3.00 Hrs. Full Marks: 80

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.
f&=gl ofa ueel @& SR ey | oo Ho—1 aifard 2 | ft vl & ofs w9 § |
1.  Candidates are required to answer all the 8 objective questions. Each question carries 2 marks.

Mark (\) for the right option.
wieref] {1 8 IRGTO—URAl BT IR AN | U U & 2 AP © | Ael f[dPped & forg

() @1 forg am=d |
(i) How manfy_( fundamental % hts are there in the constitution of India?

g7
(a) 4 (b) 6
() 7 (d) 8
(i) In which part of the constitution of India Directive Principles have been placed?
Afde™ & fed ArT § A e Rigrl o o fear mar g ?
(@) Part-III 9TT-111 (b) Part-II 9TT-I
(c) Part-IV HIT-1V (d) Part-VI HTT-VI

(iii) Who appoints the Prime Minister ?
Gl DI

ol ﬁ}%ﬁﬂ PAT & ?
(a) President RTgUfa) (b) Parliament (G9<)
(c) Chief Justice Of India (TRT & & =ATE) (d) Governor (TSIUTE)

(iv) Who appoints the Governor of the State?

ST & I5TuTd Y g B wRar 87

(a) Parliament 9¥g (b) Prime Minister GeI= #=1

(c) President Irgufcl (d) Supreme Court S=dq Tl
Indicate Correct (V) or Incorrect (x) against the following statements :

ENfoIRad weFl & AHeT ARl (V) T TAd (x) orfl Rerfay 81, faes sy |

(v) Indiais a Unitany State. Correct/Incorrect
IRA T YIS T B | el / Tl d

(vi) There are 395 Articles in the constitution. Correct/Incorrect
IRA & <A # 395 T 7 | SEVAISE

(vii) The Vice President of India is elected by the Parliament. Correct/Incorrect
IR BT SRIELURT e & gRT Haiferd 2 8 | SEVAISH]

(viii) India become Republic on 15" August 1950. Correct/Incorrect
URA 15 TR 1950 & o= Tord== &1 | el / ITerd

2. President of India is the titular head of the State ?
HRA BT YT A AT BT Y& BT & | ARAT BN |
3. Discuss the fundamental duties as emulated in the constitution.
YR Gider H Ifoerad Aifers daedl Bl fad=@r & |
4.  Discuss the power and position of the Governor of the State in India.
RA & od & 4T & Afdaigd geRefa @ faaamr ST |
5. Describe the organization and jurisdiction of the High Court.
S ST & WIS qAT &AMIBR BT quid I |
6.  Describe the composition powers and functions of Rajya Sabha.
RISY FAT B R WfdTAT Td DAl BT gl BIFTY |
7.  Discuss the different dimensions of communalism in India.
IRA ¥ AFIRTRIGAl @ A= i &1 faded Iy |
8. Examine the composition powers and functions of Municipal corporations in India.
YRA H TR 9 &1 dRe wfddal gd Srai b1 wieor Sy |
9. Examine the composition powers and functions of Zila Parishad.
fSTetT gy &1 AReT el Ud Bl &1 ARAT HIFY |
10. Write an essay on the Preamble of the constitution of India.

TRT & AT BT IRATa-T IR Th e ford |
g d 9
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Intermediate of Arts (I.A), Part-11

Economics, Paper-II
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

fr=st dfa el & SR folRaw | ued Fo—1 Afard 8 | ) Ul & i wHH € |

1. fifed soHl &1 SR A T 3RI’ forgax RN | udd W & oy ud @id 7|

()  9Rd goiErel efeeaRer § |

(i) RIS IRT & Uh TE G © |

(i) YRT & onfe fawr # B & rEq YfAwT T |

(iv) ST ¥ < DI MR  IRIF STl By W R B |

(v) fER & S a9 13 PRIS © |

(vi) TS @I IO 1982 H g% off |

(vil) WRd H UE 14 ATGERIDG BT BT ITIHIOT 1969 H AT AT |

(viii) faea #§ SRIE @ gfic | MRT & UUH W 7

(ix) fIB8R &1 arardl g il ([SU) 4 FH T |

(x) R H ARGl B F=T YUl BT e ARF 7 |

(xi) EERG 96 PV TG BT TS Y@ AEA ©

(xil) AT BT FhE! GRT YIS WA BT 9 T 8 Fobal © |

(xii) 1991 BT 3fENfire MY #§ HifdeRy aRad= fH T |

xiv) Y & fem # eRa wifa & srEq e & 8 |

(xv) #Md & faerT & forw Ren vd wrey &1 98w & 8 |

(xvi) YRA & Fhel ISR AW (G.D.P)H FfY BT AT T 1% 2 |

2. Discuss the causes of Low productivity of Indian agriculture.

IR B B 71 ISTEHAT & RO B fJda- T d |

3. Analyse the causes of rapid rise in India’s population.

IRA & g SRIRAT g @ BRON BT faweiyor STy |

4.  Describe the causes of poverty in India.
IR # TR & BRI HT a0 BN |

5. Explain the importance and problems of small and cottage Industry of India
YRA H oY U4 HCR IR & A8 Yd AR BT Seold DIy |

6.  Discuss the main aspects of Green Revolution in India.
IRA # gRA HIfT & =& ygqgell &I Tt o |
7. Analyse the importance of roads in country’s development.

T B AR § IShT & HEd HI IRDT HINIY |

8. Discuss present position and problems of either iron and steel or cotton textile Industry, in India
YRA H AlEl S ISR 3fET Godl 9] ST dI aaad Reafd vd aegmei &1 o=
PBINTY |

9.  Explain the New Industrial policy of 1991
1991 I 3 e Hfd &1 oo B |

10. Discuss the causes of price rise in India.

IRA 3 Jd gfg & RO @l fae= S |

seoskoskoskoskok ok
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I. A. Part-1I1
Paper-II [Logic]
Time: 3.00 Hrs. Full Marks: 80

Answer any five questions. Question No. 1. is Compulsory. All questions carry equal marks.

fFst 9/ 9sAi @ SR & | U €A1 ANE™ 8 | o gl % 8 99 g |

1. Answer all the following sixteen objective type questions, by selecting the correct answer of
each question.
FE ITR B TG B gU, HdNAEd gl 16 axgee UsHi @ IR &S |

)] We observe a few crows to be black, so we infer that all crows are black which one of the
following this inference it is?
T H{B HIAAT B BT T@T &, A AFAH FH & fF AW HT FA BN € | TS
F=fafag 3 & BF-a1 U 9HR H AgEE @ |
(a) Induction per simple enumeration (F3@ oI STFAM)
(b) scientific induction (3=  SAFTHA) (c) deduction (FrM)

(d) analogy (rzeaTgAT)
(i) 'Induction is fundamental and deduction secondary'. Who of the following holds this view?
‘e Aifees B, e arl efeifag 3 ¥ T B9 U & Ag B
(a) Bradley (s=%) (b) Hamilton (2ftrere)
(c) Mill () (d) None of these (3% & #rE =)

(iii)  Difference between induction and deduction is of
A ug e @ g B
(a) starting point (eT=1 fa=g & @&« #H)  (b) principle (s ¥)

(c) importance (@ & ded H) (d) none of these (z# & @ =)
(iv)  The cause is (®RoT BT 2:)

(a) antecedent (gdari) (b) unconditional (eT=iraferes)

(c) regular (=) (d) All of the above (ST |+)

) The material grounds of induction are
HAFHE & ARAded STER &

(a) observation and experiment (Fréeror wd uam)
(b) the law of causation (FXoTar @1 fasT)
(c) the law of informity of nature (v auegar W)
(d) all of the above (SR a+)

(vi)  The cause and the effect are
FROT AR FE B &

(a) equal (FTER) (b) Unequal (s1&=m)
(c) Ratio-wised (ATgHTfT) (d) None of these(z=# & ®E )
(vii)  Observation is Fdemor :-
(a) Simple perception (T3 HcI&IHIT) (b) Random perception (SETEM U0l

(c) purposeful perception (Sgeagei geefiszo) (d) none of the above (37 # & ®E )
(viii) Observation and Experiment f{teror iR warr
(a) Do not differ (1€ siax &) (b) oppose each other (v gEY & fREr )
(c) Do not differ in degree (=1 # & =&t 2)
(d) Do not differ in kind but only in degree. (ffFe1 =1 ¥' =& <ifag #m=m =1 I )
(ix) A crucial instance is obtained by:- (FoiEes IseTor urd 2@ )
(a) only by experiment (Fa@ warT & am) (b) only by observation (Faa fdierer & am)
(c) both of the above (SR M ¥) (d) None of these (S¥a freit & 12)
(x)  The method of agreement is:- (37 wom=t 2:)
(a) suggestive (FHaHeh) (b) imaginative (e~ )
(c) provative (Fafseeh) (d) All of the above (SR a+)

P.T.O



(xi)  Which one of the following is essentially a method of experiment?
Fefafag 3 & @F uh Uil 8, ™Y AR W& g99e & wer S1odsae 87
(a) method of agreement (sm=rafafy) (b) method of difference (=afeivar fafer)
(c) joint method(vgsa fafa) (d) method of residues (s@2m9  woTE)
(xii)  Analogy is a mode of inference based on

ARSI AN H 98 &I & S STEiRd &

(a) causation (R UX) (b) similarity (argsa ©x)

(¢) uniformity (v &uar o) (d) none of the above(SRa el a¥ =12)
(xiii) Analogy is based on (AEAFAN FH AUR )

(a) complete similarity (goT @) (b) superficial similarity (9% gwe)

(c) partial similarity s7ifare  @am) (d) causation (=reT)

(xiv) Logical division properly means (difs® &rT %1 adfas 19 2)
(a) metaphysical division (streznferes faw=mT)  (b) physical division(sméifes  f&«mwT)

(c) classification (aff¥om) (d) none of the above (SR ¥ ¥ HE =)
(xv) Arttificial classification is (™ @Ffior 2@ 2)

(a) systematic(azafer) (b) artistic(FTcTeh)

(c) unsystematic (sTezaferd) (d) based on causal relation (F=eT &g X ATEIRA)
(xvi) Scientific classification aims at (Jsf=e arfiepeer @1 T2 B)

(a) systematisation only (A= Fereea=) (b) definiteness only (A= fe==an)

(c) comprehensiveness only (W= =mas@ar)  (d) all of the above (SR a+)
2. Explain the qualitative marks of cause.

FLOT b TOT Gl WEAOT Bl AT BT |
3. Explain the condition of a legitimate Hypothesis.

JY UIFRSIAT I Al I AT it |
4. Explain the method of difference.

iayes [t sl e His |
5. Distinguish between good and bad analogy.

=W W U A@RLAGHAE H YW Hif |
6. Explain the different forms of Hypothesis
qerhed=l & [ 9shRi &l e & |

7. Explain Scientific Induction.
ISR AR H A i |

8. Discuss the relationship between Induction and Deduction.
AFFE IR FE & &g # G #if |

9. What are the formal grounds of Induction? Explain.

AR & AR SMER HA-HF &7 el HY |
10.  What is Experiment? Discuss the advantages of Experiment over observation.
TR dEr ®? MOEer & often wdnR & o gleend 27 9wl e iRt |

d 4 d



Time: 3.00 Hrs.

Nalanda Open University
Annual Exam - 2021
Intermediate Arts (I.A), Part-II
Psychology, Paper-II

Answer any Five Questions. Question No.l is compulsory. All questions carry equal marks.

fr=gl Ui oAl & SR IRy | ued Ho—1 3ifard & | 9 ye=l & 3ip 99+ & |

1. Answer all the eight (8) objective types of questions. Each question carries two marks.

|
(1)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

33 (8) TXIMTS Tl &I IR QY | AP TR & af 3 & |

Social Psychology is a branch of :
ST HAAS 2T &

(a)  Psychology (ARIfaET)

(b)  Sociology (FTHTSTRITH)

(c)  Social Work (ATATRT®G BTH)
(d)  Commerce (aTfor<q)

The child at birth is :
o B A9 g2l Bidl § ¢

(a)  Social (AHITD) (b) Anti Social (SMITHIRTS)

(c) A Social (THFISI® T STHIP) (d) None of these ETH | @15 7))

Which of these is not primary emotion?
frifda # o uRfe dar 72 27
(a) Love ()

(b)  Anger (%)

(c)  Fear (99)

(d)  Jealousy (=)

Which of the following is not related to senory development.

f=faRs & 9 o9 [ddT faera 9 Gefdd a8 87

(@)  Moral Development (Afda fd@md) (b)  Visual Sensation (3fte Fae)
(c)  Taste Sensation (TG Hde) (d) alfactory Sensation (&T0T Fac)

Which of the followmg is not aim of developmental psychology"
S'g"IH J P fabraTHD “I"IIIC{SII"l BT I Aol %\r

(@)  Guidance (F3em) (b) Prediction (Wfasy qrof)

Full Marks: 80

(c)  Control (=) (d) Physical Development. (JTRIR® {IHT)

What is cephalo caudal sequence?
P T 2?
(a)  LegtoHead (R 9 RR)
(b)  Headto Leg (¥R & R)
(¢)  Chestto Leg (BT ¥ tR)
(d  None of these (S8 | ®Ig w2

Where the infant growth takes place?

Rrg] &1 faer™T der g 22

(a)  Pregnancy (rfa=en) (b) Infancy (Ir@T I=eN)

(¢)  Childhood (STeT T=em) (d) None of these (T4 & ®I3 T2

(viii) Which Stage of development is known as strom & strem?

fadTd &1 {5 3R & T Ud Told DI 3faReAT Had 27
(a)  Adolescence (fh3TRTaxe) (b) Childhood (aTeaaan)

(c)  Pubery: (J¥ar axen) (d) None of these (T4 & ®I5 T2

P.T.O.



10.

Explain observation method in developmental psychology.
faeprdTcas AAfas= & fReror fafdr o1 Seeier & |

Describe factor influencing physical development.

IRIRE faprRT T Wmfdd &+ aTel Tl &I 9o & |

Discuss stages of emotional development.

TS fdra @) fAf=r argvermaii &1 9uia & |

Discuss process invlovled in socialization process.

FHETSNHROT § FfAfed Ufshamel & ool &Y |

Discuss stages of social development.

Taifore faera @1 faf=T sravenati &1 9uia &Y |

Discuss mental structure.
FRIP ERAAT BT qoIF PR |

Discuss characterstics of childhood.

IreATIRT B I3l &1 Soold B |

What is rumor? How it spreads.

JAPHATE RT 87 IE DY Bardl & 7

Discuss psycho sexual development.

i fAara &) ==t a |
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Geography, Paper-II

Time: 3.00 Hrs. Full Marks: 80

1.

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

=gl ufa yet & SR fafag | ued Ho—1 ifvard 2 | i ueAl & ofs w99 § |
HE IR BT I B gY, JEIRad I 16 IS Ul BT IR QoY |

Answer all the following 16 objective type questions selecting the correct answer of each question.
(i) fRorer uda fbd diThie oral § T gam g ?
In which geological period Himalaya Mountain has been formed?
(a) 3MfdbaT : Archean (b) fafad= : Vindhyan
(c) ¢Rdrs : Dharwar (d) TR : Tertiary
(il) wer™ fearery & Halw R tve & 918 fha+ 87
What is the height of the highest peak of Mount Everest of the Greater Himalya.
(a) 8830 : HIeX 8830 M (b) 8840 : HIcX 8840 M
(c) 8848 : HIcX 8848 M (d) 8850 : HIcX 8850 M
(iii) TIATERT WRA & b 5T H sraRerd 572
In which state of India Nathula Pass is located?
(a) 3MFH : Assam (b) B¥<TNEUs : Uttarakhand
(c) Tafdds : Sikkim (d) Fﬂ%rﬂ—\’ : Manipur
(iv) f & &1 f[98R &1 e wer Sar o ?
Which river was known as the sorrow of Bihar?
(a) T : Ganga (b) TMIGR : Damodar
(c) PN : Kosi (d) <IN : Beas
(v) WRd & fbw ou # |affs a9t g 87
Which state of India receives highest rainfall?
(a) fafdws: Sikkim (b) 3FH : Assam
(c) =TT : Meghalaya (d) SR U< : Utter Pradesh
(vi) R STeirg g 9 a1 aread 87
What is meant by the bangar alluvium?
(a) 9rE MET : Old Soil (b) =TT MAET : New Soil
(c) prell MAET @ Black Soil (d) STH | ®IS T8I : None of these
(vii) AR S BT 3 f AW | ST 7T 27
By which other name monsoon agriculture is known?

(a) e SIS ﬂ#ﬁ Intensive Subsistence Farming (b) <JTY 267 ?ffﬁf Commercial Farming

(c) ST ?ﬁ Dairy Farming (d) AT ?fﬁ Shifting Farming
(viii) T IS & |

Wheat is a

(@) &I BEA : Rabi Crop (b) W% ®HA : Kharif Crop

(c) YIYAT ®E : Garma Crop (d) STH ¥ IS &I : None of these.

(ix) F=foRad # & @9 @ I 9 &1 @@ & forg waifde Sugad 2°?
Which of the following land is most suitable for the cultivation of Tea?
(@) HATA YA : Level Land (b) 3T YA : Uneven Land

(c) <Tefam 9 : Sloping Land (d) STH | IS &I None of these

See Back Page



10.

(x) WRA H RS &1 Fa9 T85aqol ARE B § ?
Which is the main source of irrigation in India?
(@) “8X : Canal (b) 3T : Well
(c) eTRYU : Tube well (d) drelld  : Ponds
(xi) T P UBR & WieT 9 F arar § |
Copper comes under which category of minirals?
(a) @rfa®  : Metallic (b) 3mEITfcad : Non-Metallic
(c) SOl : Energy (d) 3T : Others
(xii) ERTHS Y aRISHT e a1 wR [T 82
On which river Hirakund Project is constructed?
(a) WdelSl : Satlaj (b) #EMET : Mahanadi
(c) = : Beas (d) TET : Ravi
(xiii) RE BT HTAwRR B TER BT SIHT ST 27
Which town is known as Manchester of East?
(@) H9¥S : Mumbai (b) X : Surat
(c) 3feHqTdIa: Ahmadabad (d) YOI : Pune
(xiv) USST qdaHTer fdhd Hereer H srafRerd g7

(a) TR MRS : North America (b) &feroT 3MR®T : South America

(c) 3BT : Africa (d) URMET : Asia
(xv) ST fhd oo & w&fed © 2

With which tribe igloo is assocated?

(a) TREHAN : Eskimo (b) 9= : Bantu

(c) ¥UsT : Munda (d) SRM@ : Oraon
(xvi) IRT & ¥ I H Juel SIS IRl Sl 87

In which state of India Munda tribe is found?

(@) TR : Bihar (b) USIE : Punjab

(c) TafdpH : Sikkim (d) SIRES : Jharkhanad
IRA & It e @l 4ifae faRivdrel &1 quie Sy |

Describe the physical features of the Great Plain of India.
UG ARA Bl T4l YOTTell BT o HIFTY |

Describe the river systems of the peninsular India.

Sferor uf¥erd A B H URA B STAdrg DI fARIVATAT BT g BT |

Describe the climatic characteristics of India during south west monsoon period.

IRT B ATl &1 aefferor HITY Ter ude &1 e fJavor g |
Classify the soils of India and describe them briefly.

YRA & g ITed &3] & fdarer &I e Sifsy |

Discuss the distribution of wheat producting region of India.

TR H Ae—sId STNT P JaRATT &1 fada=m ST |

Discuss the location of iron and steel industry in India.

TRRT H8RY & Ad9 AlseR Yddi &l fdaxor SIfY |

Give an account of the young fold montains of Asia.

HUST AT I ST Dl &g [qRivdret &1 fdavor SRy |

Discuss the salient features of either Munda or Banntu tribe.

faea &1 STty uawil | f9Iford g qor b Te &1 goid SISy |

Divide the world into climatic regions and describe any one of them.

g 4 ¢



Nalanda Open University
Annual Exam - 2021
Intermediate of Arts (I.A), Part-I11
History, Paper-II (Modern World)

Time: 3.00 Hrs.

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

forgl Ui usHl & SR ART | U9 Ho—1 Afard & | @9 Ui & 3fp Tq & |

1.  Candidates are required to answer all the 16 objective questions. Each questions carry 1 mark.

Weeft Tt 16 TGS geAl & SR ARTY | IS g9 b fog 1 3w 7 |

Please tick (V) against true/correct statement.

HE AT ToId gaded & AW (V) BT e sy |

(1)

(i)

(iif)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

)

(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)

Erasmus was the author of “In the Praise Folly.”

ST 39 1 BT 31T Bl & o¥d § |

League of Nations was established after First World War.
RMCHE B IATIAT U2 fdeq g & d18 ol 17 |

Swami Vivekananda was the founder of Ram Krishna Mission.

M fAde= = M1 2 B WIuET & |

Church was the strong supporter of Feudalism in Europe.
PRI H I AHddIe I Tael qHd o |

The aphim war took place in Japan.
B g S H B3l |

The First World War was started in 1914.
vor favd gg 1914 H IAR9 g3l |

Mussolini was the dictator of Germany.

AT, SHAT BT TS o |

The Revolt of 1857 was started by Kunwar Singh.
1857 T fdgls Hax Rig & gRT Yo fbar 77 |

The Industrial Revolution started in France.

3NeNfires wifa Fd goH B § I 88 |

Chou-En-Lai was the leader of Kuemintang part.

TN 4t & -1 AH—TA—aTg o |

Raja Ram Mohan Roy was the founder of Brahma Samaj.
RTST X1 A8 X1 g8 A6 & GRAued o |

Theosophical Society was founded by Dayanand Saraswati.
fRIIthdel ANTSC! &I RAUAT SIS AR o dl |

Russian Revolution of 1917 is also known as Bolshevik Revolution.

1917 BT BT DI ITe2Ad & A1 T A ST Ay 8|

A.O Hume was the founder of Indian National Congress.

Todllo BA MR TSR BRI & AU o |

The first Chief Minister of Bihar was Dr. Sri Krishna Singh.
fIeR & e g w1 Sfo #iipwr Rig o |

United Nations Organisation was established after Second World War.

G Mg A B AT G fava gg @ 91 @l TS

Full Marks: 80

(True/False)
(@1 / Ter)

(True/False)
GEVAER)

(True/False)
GEVAIEE)

(True/False)
GEVAIEE)

(True/False)
GEVAIER)

(True/False)
GEVAIEE)

(True/False)
CEVAIED)

(True/False)
GEVAIEE)

(True/False)
GEVAIEE)

(True/False)
CEVAIED)

(True/False)
GEVAIEE)

(True/False)
GEVAIEE)

(True/False)
GEVAIEE)

(True/False)
GEVAIED)

(True/False)
(T / Tera)

(True/False)
GEVAIEE)
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10.

11.

Write in short on the Socio-Religious Reform movements in modern India.

Y IR H g9 Td AN GUR Iall b1 e o Sy |

Discuss the participation of Bihar in the Quit India Movement.

IRA BISI Gl H [d8R &I T BT Ioeig By |

Examine the role of Lenin in the October Revolution 1917.

1917 DI AFCIR BT H AT BT ADT BT GRIETT DY |

Mention the contribution of Jagjivan Ram.

ITONEE M D STATRIT BT Sooikd DY |

What is the role of General Assembly and Security Council in the UNO?
AT TS H ST [T 3R GRe uRyg @ qfiar g ?

Evaluate the impact of Social Reform Movement in Bengal.
TS H AT GUR M & TG BT gl DY |

Give an account of Raza Shah Pahlavi in the modernization of Iran.
SR B JATYADBIBRY] H SIS YSdel] B AN BT g DY |

Account for the Rise of Hitler in Germany.
STHAT # fecer & Iohy & fdaror AR |

Analyse the causes and effects of Arab Invasion of Sindh.

e TR 3RT JAMHHU & HRON UG URUITAT BT fATIyor ST |

Write an essay on Non-Cooperative Movement.
JTATANT Jaled WR Udh o foalRay |




Time: 3.00 Hrs.

10.

Nalanda Open University
Annual Exam - 2021
Intermediate Arts (I.A), Part-II
Sociology, Paper-II
Full Marks: 80

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

=l ofar gl & SR faRay | o Ho—1 Afard © | W yel & 3 THE © |
Write Right () or Wrong (x) against all the statements given below :
T forg it ol &1 98 (V) T Ted (x) Rafed Sk |

6)] Indian Society is based on caste system. (Right/Wrong)
AR FHIS ST el IR SMfRRd ® | GEVAER)
(i)  Hindu marriage is not a social contract. (Right/Wrong)
ferg faare e Amfye F9siar 8 & | GEVAIGK))
(iii))  Caste is a endogamy group. (Right/Wrong)
Sy Te ot faaTd) g ¥ | GEVAIGH))
(iv)  There is four stages of Ashram system. (Right/Wrong)
3T el & IR WK 8l 2 | GEVAIES)
(v) Rural society depends on nature. (Right/Wrong)
ITHIOT FHATST UGHid TR STIRT 81T & | GEVAIEK)!
(vi)  Culture is hereditary. (Right/Wrong)
AP ST W ARG BT & | (FTET / Tere)
(vii)  There is secondary relationship in urban society. (Right/Wrong)
TR T H fgfiad v 8 € | GEVAIGK))
(viii) The position of women was poor in Mugal period. (Right/Wrong)
P il 4§ Afgersll 1 R s+ off | GEVAIGK))

Discuss the characteristics of Indian Society.

AR AT BT faergamsii & fada=r &y |

Discuss the functions of Panchayati Ra;.

AT IS & Bt o fJagEr |

Define caste. Discuss its characteristics.

ST &1 aRaTST | g9 faerydrell @ faaamr e |
What is Muslim marriage? Discuss its types.

R fdare 1 57 39 UPR i |

Write an essay of status of women.

Afgael o Rafd ) th e ford |

Describe the impact of Islamic culture on Indian social institutions.

IRART ARG AR TR ST Ad AP & g9 Bl fader ax |

What do you mean by ‘Ashram system? Discuss its difference stages.
3T eI 3 MY T FHS &7 39D (A~ <RI BT fdaqr o |
What is village community? Discuss its characteristics.

YT AR /T & 7 gdd] faeivdr gar) |

Write short notes on any two of the following:

o 9 fol 1 W fewoh fafag:
(a)  Varna system (qUT Iq=eIT) (b) Hindi Marriage (fé=g faars)
(¢c)  Urban Community (T"RII HYT) (d)  Tribal Problem (SIFTSITII FHIT)



Nalanda Open University
Annual Exam-2021
I.Com, Part-I
Paper-I (Book Keeping)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory.

for=sl ufg uel & SR forRaT | 999 Ho—1 Sifvard 2 |

1. fr=faRed dodl &1 SR\ FEl A b wU H AR | TIPS FUHARR b oy

1 3i Iafed & —

() TR AR H Mo T8 Bl & |
Secrecy is not maintained in Sole Trade.

()  omfe fogr ok Refy faavor # sk B |
There is difference between Balance Sheet and Statement of Affairs.

(i) HAT AR BT arrer Hf¥ead Bar § |
Dividend of equity shareholder is certain.

(iv) o DR HHRM Gl [l W AT S 2
Del credere commission is paid on total sales.

(v) faffa 99 <9eR gry forar Siam & |
Bill of Exchange is drawn by debtor.

(vi)y ofeRnRal &1 f9e W S w BT §
Sharebholders get interest on investment.

(vii) T UH I FERT 2
Goodwill is a tangible asset.

(vii) B Badal Rl IHRRT R B 9T 8
Depreciation is charges only on fixed assets.

(ix) THTH AR BT I AHAT 8rar g |
Liability of sole trader is limited.

(x) 999 TH ATl IHRT B |
Building is a current asset.

(xi) oIS I DI GO FI | ST oIl © |
Outstanding expense is added to expense.

(xii) ST TFeR §RT ford o € |
Promissory Note is written by creditor.

(xiii) onff® fasr af & sMa # 9T T B |
Balance Sheet is prepared at the end of the year.

(xiv) oIEiH afY Th HIE Bl Bl & |
Accounting period is of one month.

(xv) " fda U@ gre] \uRi g |
Bills Receivable is a current asset.

(xvi) ZRUTIENY Bl AT U 8T & |
Debenture holders get dividend.

2. What is a Cash Book? What are the different kinds?
Ahs—de T T ? Adhe—da! & fAf=1 9f BT ST gU 0 ST |

3. Define Trial Balance? Why is it prepared?
qeluc | 319 T qFSI & 7 I8 I T Sl ©§ 2

4.  What is Bank Reconciliation Statement? How is it prepared?
9% A fqaR0T /1 8?7 I8 Y IR Sl 57

5. What is Share? What are its types?
3feT T 8?7 IS b UBR BT BT 57

See Back Page



What is meant by joint venture business? How does it differ from partnership business?
AYFd IUHH FaArd BT T e 57 RGN FGAR ¥ Ig fbd UbR A= 27
fifea 9 w fewft forRey —

Write note on the following :-

(1) T Uq Afewer Fkomef AT (Reserve for Bad & Doubtful Debts)

(i) GTE\I@'?J? DT YUNR (Rectification of Errors)

(iii))  3Te<T =Y (Outstanding Expenses)

(iv) oMU 3 (Unaccrued Income)

Prepare Double Column Cash Book from the following information for 1 September, 2019.

] @M arell JAds—dal 1 R, 2019 B FIfdhT GamRil & MER R IR By |

2019  Sept. 01 Cash in hand Rs. 17,500
Bank overdraft Rs. 13,500
Sept. 03 Paid wages Rs. 200
Sept. 05 Cash sales Rs 17,000
Sept. 10 Cash deposited into Bank Rs. 14,000
Sept. 15 Goods purchased and paid by cheque Rs. 12,000
Sept. 20 Paid Rent Rs. 500
Sept. 25 Draw from Bank for personal use Rs. 400
Sept. 26 Paid salary Rs. 1,000

Prepare Trial balance from the following :-

=T & MR TR Tdh delde dIR BRI —

Drawings (3&%0T) Rs. 1026, Stok (WUSR) Rs. 3840, Debtors (S9aR) Rs. 5700, Purchases (573)
Rs. 6240, Wages (ASTRl) Rs. 1440, Travelling Expenses (IT3T &3) Rs. 517, Furniture (W)
Rs. 5,800, Goodwill (&1fd) Rs. 600, Cash (A®<) Rs. 150, Salary (d@H) Rs. 217, Donation (ST)
Rs. 150, Bank Overdraft (% 31f&Ifd@s) Rs. 400, Sales (f[§579) Rs. 18500, Creditors (eFSR) Rs.
780, Capital (guil) Rs. 6000.

On January 1, 2019 Mohan sold goods to Sohan for Rs. 2,500 and drew on line a bill at 3 months
for the amount. Sohan accepted and returned the bill to Mohan. The bill was met on the due date.
Give Journal entries in the books of both the parties.

1 SHaR, 2019 BT Higd = Aed I 2,500 B0 BT SUR A §97 b Tasl § Agd & SWR
Th dF 9 &1 fad forar T | 59 9 WeR &) I i g & aug e |
faa &1 g, PraE Ay R Aed gRT R QA1 Siar 8 | S uell & Wrar—agl H SiHe
forar I |




Nalanda Open University
Annual Exam-2021
I.Com, Part-I
Paper-II (Money & Banking)

Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory.

for=sl ufg uel & SR forRaT | 999 Ho—1 &iffard 2 |
1. f=foRad poMl & SR 9 JUAT I b wd H S | U-d HIYARN b oIy
1 3f ardfed & —
(1) Bill of exchange and promissory note are two sides of the same coin.

fafem faar ok wfos—uz U & Ri9d & <1 U8l § |

(i)  Time deposit is for a difinite period.

rafd S U Nf¥Ed srafd & foru g g |

(iii)  Barter system is still alive.

a%q fafres yomelt ot ot Shfad € |

(iv)  Commercial bank makes investment inspired only by profitability.
TGRS 6 Had dAMeIHar 9 IRT BIHR faeT HRa %\r |

v) Value of money increases during inflation.

I BTIet 7 T BT oI d¢ Ol & |
(vi)  State Bank is the central bank of India.

W §b 9RT BT Hg §b 2 |

(vil)  NABARD stimulates industrial development.
TS 3MeEnfiie faerT & uredrsd ordl & |

(viii) Bad money drives out good money from circulation.

RV T 3! HAT Bl Fod & 9N IR Sl § |

(ix)  Anybody can get payment on order cheque.
W PIg W AT YA U B Fhal & |

(x) Bank overdraft is a kind of long-term debt.
&% AffIey UH UHR &1 AEdTAT FT T |

(xi)  Bank Rate is an instrument of credit control.
9% R AR EA FHT Th IUGR T |

(xii)  In India credit control is the responsibility of Reserve Bank.

qRd § I e Red 6 @ Rimers 2

(xiii) Promissory note is written by the creditor.
IfeT—ua oFeR gRT for@r S g |

(xiv) Commercial bank is the chief source of industrial finance.

TS 9@ ienfis O & e 9a 2 |

(xv)  After evolution of money barter system vanished.
ST & UIgHid & ueEnd a¥q fafea yomelt faga 8 Wit |
(xvi) Investment goes up during depression.
HEY w1t # e § gfg B 2
2. Describe the functions of Central Bank.
D 96 B BT B qUE DY |
3. Explain the qualities of a good money material.
T IS ol yaref & O Pl ARAT BT |
See Back Page



4.  Define money and describe its functions.

HaT &1 gRATT I TAT 3HS BT BT g DITY |

5. Throw light on the methods of credit control.

g o & fafat ) gere sifery |

6.  Describe briefly various types of loans sanctioned by a Commercial bank.

Th ARG b gRT g by M gt Aff= bR & ol &1 Geg § guiq SISy |

7. Describe the functions of Regional Rural Bank.

e YTHIOT §b B BT BT gui BT |

8. What is inflation? Examine its impact on different classes of society.

ETEDIT T 87 FAS & (AR a9l UR g9 UHTd BT URIeToT BIfY |

9. Under what circumstances should a banker dishonour the cheque of a customer? Explain.

fope aRRAfTAT § T dBR BT UT8H & U BT JHTGR HY AT dAM_V? ARAT HITY |

10.  Write notes on any two of the following :-
ffoaRad # & fb=gl a1 W fewel forfay —
(a)  Billing of Exchange (A< )

(b)  Index Number BENIED)
(¢)  Paper Money (T=—HaT)
(a)  Kinds of Bank (§P1 & THR)



Nalanda Open University
Annual Exam-2021
I.Com, Part-I

Paper-III (CCSMR)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory.

for=sl ufg uel & SR forRaT | 999 Ho—1 Sifvard 2 |
1. f=ifhd BoAl &1 SR I JYAT I’ & ®©T H IV | TP HAARR P foIU 01 b
rafed g |
(1) No argument should be made with customers.

YEDI & ARSI Tb 6 HIAT aMRY |

(i1) Salesmen have nothing to do with the sentiment of customer.

faebal T TTEd B T F GO W1 o 1 T8 2 |

(iii))  Literary language is unnecessary in Commercial letter.

ARG 93§ Aifefcad 9T &1 JINT FEeIH © |

(iv)  Decision of the government is issued through notification.

IR & [0 Fhed gRT WX fhy o € |

(v)  Semi-official letter is written in personal style.

I—TRHN 75 @fdrerd el # ford I 2|
(vi) It is not necessary to keep control on salesman.

IEESISIR A SR E LI CRIRCICRU G I
(vii))  Speculation business is based on anticipations.

AT IGHRT AT TR 3MenRd 8T & |

(viii) Bull is pessimist.

Jorfear fARTemaTE) BIaT 2 |

(ix)  Retailer purchases goods directly from the manufacturer.

HedR fagmar e et & awg wRedr |

(x) Salesman is by birth, not made.

fabdT ST=IoId 81 8, 991 8 oI |

(xi)  Advertisement is meaningless.

fasmue Rl 2 |

(xii)  There is no scope of flexibility in salesmanship.

faa—Fer # a1 @ B Yoy T T |

(xiii) It is not advisable to indulge in argument with customers.

YTEHT B AT TP el HIAT ARV |

(xiv) There is no impact of training on Salesmanship.

fasha—aelr IR URNEIOT BT BIS Uvd T TedT B |

(xv)  There is no difference between official and commercial letter.

RGN U 3R ARG T § DIs 3R -6 & |

(xvi) Personal contact is the best way to exercise control.

IfFiTd T =01 &1 Faiag AFF 2 |

See Back Page



2. Write an essay on salesmen ship.

faspa w1 W e e forlRgu |

3. Describe various modes of advertisement.

fasmoa & faft= aregdr &1 o= AT |

4. What is market terminology? Explain important terminologies used in market report.

IR Y&l RIT 8?7 IR FHER H TN 8 dTel Hecdqul Yeardal] &I RAT HINTY |

5. What is sale process? Describe its various elements.

faspa uferar @ 27 39 fafi=1 dwal &1 9viF ST |

6.  Describe the characteristics of a good business letter.

U 3D ATAIIS U= &1 ARdmel & quie SN |

7. “Distribution Channel ends after reaching the consumers”. Discuss this statements.

“fATROT AR SUHTEIT T UgaT © dIq FHIG BIAT & |7 $9 B DI AdGHT BIfY |

8. Describe the methods of giving training to salesman.

faspeatl 1 ufieror <= @1 faf¥al o1 guie IRy |

9.  What do you mean by demonstration? What are its types? Explain.
Y& ¥ MY T WA 2° Ig fhd UHR &I BAl g7 ARAT DI |

10. Write notes on any two of the following :-
ffafad & 9 fal & w fewoh foaRay —
(a)  Show Room EENERI)
(b)  Bull and Bear GRISRIREEHAO)
(c)  Business Communication (RITATRISG FRITOY)




Nalanda Open University
Annual Exam - 2021
I.Com, Part-II

Paper-1 (Business Method)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

for-gl ufg gl & SN foRau | gee Fo—1 sifard 2 | 9 Ul & 99 aRIeR 2 |

1. Fr=feRead doMl &1 SR U AT AT’ b wd H Y | JAD HUARR B ol 01 3
ardfed € |
() SRR B B W@E B §
Shareholders are proprietors of the company.
(i) g SR iR JgE=Id gHMT § Big AR A8l T |
There is no difference between departmental store and multiple shops.
(ili) R, IO 3R SENT § BIg AR T8l & |

There is no difference among trade, commerce and industry.

(iv) TR ol WIRERI & d19 U ey © |
Partnership deed is a contract among partners.

(v)  IaMTH $EE D AARD e B IMRIT AT

Articles of Association governs the internal management of a company.

(vi) 9T W e @ QAT Y SR &1 FEEe 81 9ahdr © |

A company can be incorporated even without memorandum of association.

(vil) FEU-UH SR BB HFT T B STR] Bl & |
A company raises debts by issuing debentures.

(vili) THTHT AR BT ST SRAHAT Brar ® |

Liability of sole trader is unlimited.

(ix) ATEIER AT BT IR Sffard g |
Registration of partnership business is compulsory.

x) S uE g™ AT e $hm afea €

A company is an artificial person created by law.

(xi) PRI RN & HSR BT & |
Office is the store of informations.

(xii) Tl SfEMER) & 51 T M H HFIAT 97 8 SRl © |

A company is dissolved in the event of death of any shareholder.

(xii)) UBPH! YR H MUY= T8l Bl 8 |
There is no secrecy in sole trade.

(xiv) IreEnRal &1 < Hifd gar & |
Liability of shareholders is limited.

(xv) WWW@W@W%I

Bank overdraft is a source of long-term capital.

(xvi) PRIER B YAN I ISR H gl 88 © |

Use of computer has increased employment.

2. UPMHI FUR b gR¥ET IRTT dor sHd! Aeydmei & auie ST |

Define sole trading and describe its features.

See Back Page



10.

BISfolT RIT & ? BrsfelT &1 Afer= ygfoal &1 aof= v |

What is filing? Describe various systems of filing.

AR § 319 F7 T 8 7§09 U faRwdmeil &1 9o aiforg |

What do you understand by the term partnership? Describe its main features.

BUAl B FAFSAT DI Ufhar & IoiF By |
Describe the process and procedure of incorporation of a company.

fagel R R e A9y faRau |

Write an essay on foreign trade.

39T |7 2° faf= yeR & e &1 guie HIfsu |

What is share? Describe different kinds of shares.

U A%l FGART & aeddh N BT quid DHITY |

Describe the essential qualities of a successful businessman.

Gexl WMUR 3R AP AR H R WL BIFY |

Distinguish between retail trade and wholesale trade.

Write on any two of the following :-

feforiad & & f=gl < wR fewo fafay —
(a)  Article of Association (UTSG I(-1gH)
(b)  Private Company (st ue)

(c)  Prospectus CIEErY)!




Nalanda Open University
Annual Exam - 2021
I.Com, Part-II
Paper-II (Principles of Economics)

Time: 3.00 Hrs. Full Marks: 80

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

forgl dig ol & SN forRau | 9o Fo—1 SifFard 2 | 9 Ul & #F a_IeR & |

1. fF=EfaRed sl & SR A JIUAT I P wU H AU | D HUARR & o 01 3fd
Jrafed g |

(1)
(i)
(iid)

(iv)

(vii)

(viii)

Law of diminishing return applies only in agriculture.

ETAM Ufahd oW Sadt oY & &5 § ar AT 7 |

Demand for medicine is inelastic.

39 @1 /T drEeR Bl 7 |

Number of sellers is very large under monopoly.

UHIRIGR & Svta fasharsll & dear 9gd 3ifdrd 8l 2 |

There is difference between 'want' and 'demand'.

3aIdHdT AR ART H R 7 |

Lower the price, higher the demand and higher the price, lower the
demand.

FHH BT W AN A6 3R If¥es HHd IR 7T FHH Bl T

Number of buyers and sellers is not large in perfect competition
market.

gt gfrfTar & sraeia st &R fasarsil @ e e g B § |
Adam Smith is called 'the father of economics'.

TeA R Bl e & TS HEl ol © |

Economic laws are hypothetical.

anfdfe oW wreafas 8 € |

According to Robbins 'Economics is neutral between ends'.

AT & AR refemes Al & i dewer § |

There is no difference between monetary wages and real wages.
Hifad ASIGY IR aRAAD ASGY & 414 By A<R ol © |

Situation of land affects rent.

I & Rerfy o/ &1 wwifad &=t & |

Utility is maximum at the point of full satiety.

ol Agfic & famg = STAifiar ifdead gt § |

The law of diminishing marginal utility applies even in the absence of
assumptions.

ArgARIt &1 srguRerfa # +f WHia Suafirar g e fharefier gar 2 |
Monopolistic price remains reasonable.

UHTRIGERY Hed Ifod BIar § |

Price determination is affected by time element.

B IR R T99—a BT 9919 ISl © |

Savings have no effect on capital formation.

Yol FFHEToT IR g T lg Y91 AT8] Tedl & |
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2. Discuss the definition of Economics given by Marshall.

YT gRT <7 g ARSI GRHT &1 fad=qr HIfv |

3. Throw light on different methods of measuring elasticity of demand.

AT &Y o &7 4199 &1 fafy= fAfdai w garer siferw |

4. Define market price and normal price and clarify the differences between the
two

mqﬂsﬁ?wwaﬁwﬁmﬁﬁaﬁﬁﬂﬁmﬁzﬁéﬁwaﬁwaﬁm |

5. Explain the law of demand. What are the exceptions to this law?

AT & W ®F AR HINT | 39 99 @ dF-3i W ITuare 87

6. Define market and explain its various kinds of market.

IR BT gRYTET SITT T A= IR & II9TRI &) ARAT HIFTU |

7. “Economics Laws are hypothetical.” Discuss.

“anfefes fo wreufe € 17 fadeEr dIve |

8. Define wages. What are the differences between monetary wages and real
wages?

HASIGY Bl gRETT IfSTY | #ifed Aogyl IR aRafdd AsTgxl & d1d &RIT 3R &7

9. Define demand and describe the factors affecting demand.

HRT Bl gRITRT HIRTT T AT BT J9Tad BT Il BRI BT JuiF BT |

10. What is monopoly? How price is determined under monopoly?

UHIIBR T 5° 39D A<d Jed & FeR {6 ger grdr 87




Nalanda Open University
Annual Exam - 2021
I.Com, Part-II

Paper-III (CAES)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

fop-gl ufg gl & SN foRau | gee Fo—1 sifard 2 | 9 Ul & 99 a_RIeR & |

1. 9 SRS gedl & IR AR | 9P 999 & oY T 3 FeiiRd & |
(i) T z=25 3R M=28 @ x a1 BT |
(i) I AT eI 80 TUAT IR fIHT HeF 60 o T A M AT B T ufrerd §ard |
(i) I x+y=30 T x:y=3:2 @ x @ |
(v) &R o R & 5 R G f6dr 17 BT § |
(v) 3fT 5,-2,0,x 3R 10 BT FH=R ARG 5 & df x BT 74 Pt |
(vi) TP I BT eI 1.52 o & Al 123 TGAT BT o Faprel |
(vil)  9632.5021 BT TS A fAdhead goRd § Jad Y |

(viil) 423.6491 X 065324 &7 AFD ®U H dG |

(ix) 7564 U @I ®UY § hdd DT |

(X) 500 Bo BT 6% WAy TS &I X ¥ 2 YNl H ARIRY Aol FT BET |
(xi) 8 °9vC UH fad T fohaem ufcera € ?

(xii) %aﬁqgaﬁmﬁmw |

(xiii) T GEIRI & U 8 : 6 AR IABI AN 840 © Ol IH—AST QHl ARG
T8 ?

(xiv) 960 To W 17% I & A dcel Mdrel |
(xv) TP TS R UH 3MId H T R & |
(xvi) IfT a:b=2:9,b:c=3:53Rc:d=12:10 T @ a:d IMd HINY |

2. Find the mean from the following data.
fefeiRad e & A = B |

Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70
freq. 12 5 6 3 2 5 8

3. Draw a Histogram and frequency polygon from the following data.

frferRaa favor &1 omaa o QIR JMafT 9899 & w9 # Ugd difoiy |

CI| 0-10 10-20 | 20-30 | 30-40 | 40-50 50-60 | 60-70 | 70-80
f 5 12 18 22 27 15 9 4

4.  Express 9870234 correct to the nearest : (i) Ten (ii) Hundred (iii) Thousand (iv) Ten thousand
9870234 I (i) T8 (ii) A& (iii) TR (iv) T IR & Ade Fad DY |

5. A trader allows a discount of 5% to his customers. How should an article costing Rs. 38 be
marked so as to make a profit of 25% on his outlay?

TH AU U ITEHT BT 5% dcel odl © | el 9] BT B Jd 38 JUAT &1 Al IADI
oI AR T W f %9 qod TR IW 25% o™ &8I |
See Back Page



10.

What principal will amount to Rs. 3960 in 7 years at 14%?
14% @1eR ¥ fHaw qore &1 fste 7 auf § 3960 To BT SIGT?

Define statistics and also write its importance in trade and commerce.

IiRegd @I gRITET IRTT | R 3R a1y § FikadT & A &1 fadaqr #Ife |

If these by 4% loss by selling a commodity for Rs 864, for what price should it be sold to get a
profit of 10%?

Ife BN T BT 864 To # d&T WR 4% B &I, A1 I b= § =1 WMy f5 10% @™ &1 |

Explain the difference between primary and secondary Data.

qrIfie THe MR fgdlT THE # IR e HITY |

Find the price off 3406 litter milk @ Rs. 5 and 75 paise per litter.
5 o 75 U Y <lley &1 &R ¥ 3406 lick §Y &1 Jod Hdbrel |




Nalanda Open University
Annual Exam-2021
Intermediate of Science (I.Sc.), Part-I
Mathematics, Paper-1

Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory.All questions carry equal marks.

1. Select the correct answer from the following question. Each part of the questions carry one mark.

(a)
(b)
(c)
(d)
(e)
()
(2

(h)

(1)

)

(k)

M

(m)
(n)

(0)
(p)

If a set A has n elements then the number of elements in the power set P(A) is :

(i) 2n (i) 20 (ili) n? (iv) None of these
(AmB) NBis :
i A (i) B (iii)) AnB (iv) None of these
If 5C; : 1°C_y = 11:5, then ¥C; is equal to :
i) 30 (i) 65 (iii)) 56 (iv) None of these
Which one is correct, 1+ w+w? is equal to
(i -1 (i) 1 (iii)) 0 (iv) None of these
The value of Co+Co+Cs+Cet....... in (I1+x)" is :
(i 2o (i) 2! (iii) 2n-1 (iv) None of these
If f(x) = x?>+5x+6, xR, then f(-2)f(3) is :
1 3 (i) 2 (i) 0 (iv) None of these
log, 32 is equal to :
2 5
1 5 (i1) S (ii1) 2 (iv) None of these
tan'x + cot 'x is equal to :
0 (i) = (iif) g (iv) None of these
If A+ B + C = m, then cosA + CosB + cosC is equal to :
(i) sinA-sinB-sinC (i1)) cosA-cosB-cosC
(iii) sinA+sinB+sinC (iv) 1+ 4sinZ-sin- sins
If sin6 = ?, then O is equal to :
L . T iy T .
(1) 5 (i) 3 (ii1) Py (iv) None of these
Ifa#b #c #0 such that :
1+a 1 1 L1 1
1 1+b 1 :0,then;+g+;isequalt0:
1 1 1+c
1 1 (i) -1 (iii)) 0 (iv) None of these
If the equations x> + px + q = 0 and x> + gx + p = 0 have a common root then p+q+1 is
equal to :
i o @) 1 (i) 2 (iv) None of these
The triangle formed the linesx +y—-4=0,3x+y=4,x+3y=41is:
(1) Isosceles (i) Equilateral (i) Right-angled  (iv) None of these

For all values of q the locus of the point of intersection of the lines x cosf + y sinf = a and
x sin@ —y cosO=Dbis:

(i) acircle (i) an ellipse (iii)) a hyperbola (iv) aparabola

If y — x — 2 = 0 touches the parabola y?> = 8x then its point of contact is :

1 2,49 (i) (1,2) (i) (2,3) (iv) None of these
The eccentricity of the parabola x> —4x —4y +4 =0 is :

(i) e=0 (i) e=1 (i) e=4 (iv) None of these

See Back Page



x2+34x-71

For all real values of x, show that
x*+2x-7

] never lies between 5 and 9.

Find the sum to n terms of the series :
125+236+347+........

b? +c? ab ac
Provethat A= | ab ct+a’ be |=4a’b*c’.
ac bc a’ +b*

n_ n n_ n n n 2
Prove that 'C, C.+'C,"C_ +'C_,"C = -

t (n - r)(n + r)'
In a A ABC prove that a’ cos (B — C) + b3 cos (C — A) + ¢3 cos (A — B) = 3abc.

A straight line touches the circle x? + y? = 2a? and the parabola = 8ax, show that its equation is
y == (x+2a).

How many even numbers of four digits can be made with the digits 0, 3, 5,4, 9.
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Nalanda Open University
Annual Exam-2021
Intermediate of Science (I.Sc.), Part-I
Botany, Paper-I
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory.All questions carry equal marks.

1. Select the correct answer in the following statements.

6)] Chloroplast is cup shaped in :

(a) Spirogyra (b) Nostoc (c) Bryophytes (d) Chlamydomonas
(i)) A cell increased in volume when placed in a solution which one is?

(a) Hypotonic (b) Isotonic (c) Hypertonic (d) All of these
(iii)  The reaction of Krebs cycle occurs in :

(a) Cytoplasm (b) Mitochondria (c) Nucleus (d) All of these
(iv)  COz acceptor in C3 plant is :

(a) RUDP (b) PEPA (c) PGA (d) OAA
v) As per template theory amino acid first combines with :

(a) DNA (b) mRNA (c) sRNA (d) tRNA
(vi)  Replication of DNA is brought about by an enzyme called :

(a) Oxidase (b) Kinase (¢) Reductase (d) Polymerase

(vii)  Genes are composed of :

(a) DNA and RNA (b) DNA only (c) RNA only (d) Protein
(viii) Leaf is modified to pitcher in :

(a) Nepenthes (b) Utricularia (c) Dionaea (d) Drosera
(ix)  Number of stamens in Solanaceae is :

(a) 10 (b) 5 (c) o (d o6
(x) To which family does sunflower belong?

(a) Solanaceae (b) Brassicaceac  (¢) Fabaceae (d) Asteraceae

(xi)  The field of Botany concerned with the study of living activities and function is :

(a) Physiology (b) Cytology (c¢) Genetics (d) Ecology

(xii) Binomial nomenclature means writing the name of plants in two words which designate :
(a) Order and family (b) Family and genus
(c) Genus and species (d) Species and variety

(xiii) The binomial nomenclature was proposed by :
(a) Hugo de Vries (b) Mendel
(c¢) Carolus Linnaeus (d) Darwin
(xiv) Food is changed to energy in :
(a) Nucleolus (b) Golgibodies (c) Chloroplast (d) Mitochondria

See Back Page



A SR RN

(xv)  Power house of the cell :

(a) Mitochondria (b) Chloroplast (¢) Ribosome (d) Golgi body
(xvi) Which one of the following statement is correct :

(a) Some viruses contain DNA and some RNA

(b) All viruses contain DNA

(¢) Viruses do not contain nucleic acid

(d) All viruses contain RNA
Describe the floral characters of the family Fabaceae and give the floral formula and floral
diagram. Also write the botanical name of two plants of economic importance of the family.

Describe the structure of bacteriophage
Or
Describe the structure and function of on mitochondria.

Write notes on any two of the following :

(a) Economic importance of Cyanobacteria

(b) Mycoplasma

(©) Transformation

(d) Protista

(e) Important cereal crops of Bihar

Describe the structure and function of Choloroplast.
Describe the secondary growth in dicot stem.

Give an account of Calvin cycle.

Describe prophase I of meiosis.

Mention the sources of air pollution and suggest the methods of its control.

Write short notes on any two of the following :
(a) Prokaryotic cell
(b) Stomatal movement
(©) Carbon cycle or Green House Effect
(d) Cell cycle
000
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Nalanda Open University
Annual Exam-2021
Intermediate of Science (I.Sc.), Part-I

Chemistry, Paper-I
Time: 3.00 Hrs. Full Marks: 80

Answer any Five Questions. Question No.1 is compulsory. Attempt Two Questions from Group 'A' and
Two Questions from Group 'B'. All questions carry equal marks.

1. Choose the correct answer of the following :

(i) The electronic configuration of Mn is :
(@) [Ar]3d54s? (b) [Ar]3d%4s! (c) [Ar]3d*4s?pl(d) None

(ii)  Which is alkaline earth element :
(a Cl (b) Na () Ca (d) He

(iii) Which is alkali metals :
(@) K (b) F () Mg (d) Fe

(iv)  Which is of 3d block elements :
(@) V (b) K () Br (d) Ag

(v)  Which is of 4f block elements :
(@) Zn (b) Cr (c) Cu (d) Pm

(vij  Which is of 5f block elements :
(a) Xe (b) Kr (¢) Tm (d Am

(viij Which is Inert gas elements :
(a) Ar (b) K () Sr (d) Fe

(viii)j Which element is found in solar system abundantly :

(&) He (b) Ne (c) Os (d) O
Group - A
2. Write the hybridisation, structure and shape of following :
(& NHs (b) H20 (c) BCls (d) CO2
3. Write the electronic dot formula of following :
(a MgO (b) KCI (c) HCHO (d) C2H2
4. Explain the following terms :
(a) Ionisation Potential (b) Electro negativity
(o) Electron Affinity (d) Dual Character of Water

See Back Page



Write notes on following :

(a) Carbon Dating

(b) Nuclear Fission

(c) Pauli Exclusion Principle

Fill in the blanks :

(a) Hybridisation Cin CH4is .....ccooviuininn.. .
(b)  Hybridisation of C in CoHa is ....cccoeennnnene.. .

(c) Wateris ....cooevevnennene. acidic then alcohol.
(d) Glycerol is ...cocvvvvneninnnen. alcohol.
(e) Iso electronic species are ..................... .
(i) Ne (i) CI- (iii) Cat*2 (iv) Na
i) Neutron was discovered by ..................... .

(g The quantum of light is called ..................... .

(h) Forn=3thenl=........c..ceenenne. .
Group - B

Explain the character of 3d-block elements on following terms :
(a) Magnetic Properties

(b) Complex Formation

(c) Colour Formation of Compounds

Write the IUPAC Nomenclature of following complex compounds:
(i) [Ni(CO)4] (i) Ka4[Fe(CN)s]
(iii) [Cr(H20)4Cl2] (iv) [Ni(en)2Clz]*2

Write notes on any two of following :
(@) Green House Gas
(c) Surface Water Pollution

(b) Ozone Layer and its depletion

. Write notes on any two :-
(a) Bleaching Powder
(c) Nessler’s reagent

(b) Zypsum

00
Programme of 1.Sc. Part-I Counselling and Practical Exam' 2021

Venue For Botany - 1st Floor, Bio Lab, Biscomaun Tower, Patna
For Chemistry - 4th Floor, Chemistry Lab, Biscomaun Bhawan, Patna
For Physics - 1st Floor, Physics Lab, Biscomaun Tower, Patna
Practical Examination
Date Time
11.00 AM to 2.00 PM 2.30 PM to 5.30 PM
Botany [Biology, Paper-I] .
20.12.2021 [All Students]
Chemistry Chemi
emistry
21.12.2021 | Roll No. 19063%%%1 to 190630100] | [rell No. 200630051 to 2006300150]
[Roll No. 200630001 to 200630050]
Physics Phvsi
ysics
22.12.2021 | [Roll No. 19063(;2%1 to 1906301001 | [Roll No. 200630051 to 2006300150]
[Roll No. 200630001 to 200630050]




Nalanda Open University
Annual Exam-2021
Intermediate of Science (I.Sc.), Part-I
Physics, Paper-1

Time: 3.00 Hrs. Full Marks: 80

Answer any Five Questions. Question No.l is compulsory. All questions carry equal marks.

1. Select the correct option in each of the following. Each part of the questions carries 1 mark.

(i)

(i)

(iif)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)
(xiii)
(xiv)

(xv)

(xvi)

The most invariable second is :

(a) ephemeris second (b) universal second

(¢) cesium second (d) none of the above

A stone is released from a elevator going up with an acceleration a. The acceleration of the
stone after the release is :

(a) aupward (b) (g—a)upward

(¢) (g-—a)downward (d) gdownward

If @ Lb then (6—5)2 is:

(a) zero (b) a’-b? (¢) a-b (d) a’+b?

The angular velocity of a body is a :

(a) polar vector (b) constant vector (¢) axial vector (d) none of these

A particle starting from rest covers 2.55 m and 2.25 m in the 8" and the 13" second
respectively. The initial velocity of the particle is :

(a) 1m/s (b) 2m/s (¢) 3m/s (d) 4m/s
The time of travel half the amplitude from the extreme point of the path is :
(a T/3 (b)y T2 (c) T/6 (d) T/12

All the particles of a body are situated at a distance R from the origin. The distance of te
centre of mass of the body from the origin is :

(a) =R (b)<R (c) >R (d =R

64 rain drops combine to form a single drop. The ratio of the total surface energy of all the
drops to that of the single drop is :

(a) 64:1 (b) 4:1 (c) 8:1 d 1:4

Two equal drops are falling through air at a steady velocity of 5 cm/sec. If the drops
coalesce, the new terminal velocity will be :

(a) 5 x2cm/sec (b) 5 %2 cm/sec

(¢) 5x ('3 cm/sec (d) 52 cm/sec

The quality pv/kt represents :

(a) mass of the gas (b) kinetic energy of the gas
(c) number of molecules in the gas (d) number of moles of the gas
The absolute zero of temperature is :

(a) 0°C (b) -260°C (c) -273.16°C (d) -10°C

The optimum temperature at which human being feels comfortable is between :
(a) 0°C—-4°C (b) 15°C—-16°C (c) 24°C-25°C (d) 30°C-31°C
If heat is expressed is Joule, the mechanical equivalent of heat is :

(a) 1 (b) 4.2 (c) 4.2Joule (d) 1Joule
The maximum wavelength of a transverse wave that can be set up in a string of length / is:
(@) ! (b) 21 (c) 12 (d) 4

A sine wave is travelling in a medium. The minimum distance between the two particles,
always having the same speed :

(a) m/4 (b) /3 (c) w2 d =
The end correction in a closed organ pipe is :
(a) 0.3d (b) 0.6d (¢) 04d (d 0.2d
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10.

Find the resultant magnitude and direction of two mutually perpendicular S.H.Ms about the same
central point.

Deduce expression for centripetal force acting on a particle moving uniformally along a circle.
What is centrifugal force?

Find the formula of the ‘maximum height’ attained and the ‘time of flight’ of a projectile
projected with velocity v at angle ©.

Define elastic constants. Find the energy stored in a stretched wire. What is Hooke’s law?

Obtain an expression for rise of water in a narrow capillary tube kept vertically and partially
dipped in water.

State and explain the 1% law of thermodynamics.

State the postulates of K.T. of gases and deduce an expression for the pressure of an ideal gas on
the basis of the theory.

Describe the construction and the working of a constant volume standard hydrogen thermometer.

Write the Newton’s formula for the velocity of sound and discuss the Laplace’s correction. What
is the effect of temperature on the velocity of sound.
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Nalanda Open University
Annual Exam - 2021
Intermediate of Science (I.Sc.), Part-II

Mathematics, Paper-11
Time: 3.00 Hrs. Full Marks: 80
Answer any Five Questions. Question No.1 is compulsory.
All questions carry equal marks.

1.  Select the correct answer from the following questions. Each part of the questions carries one
mark.
(a) If f{x) =| x | then fis continuous at :
(i) origin (i) atx=1 (i) atx=-1 (iv) None of these

tanx—sinx ) .
is

(b) limit(—3

x—>0 X
(1) 1 (i) - 1 (iii) 1 (iv) None of these
2 3 3
©  limit (tanxjiz is -
x—o0 X X
1 1

i €’ (i) e? (iii) e (iv) None of these
(d) If x>0,y>0andxy =1, then the minimum value of x + y is :

i 1 (i1) % (i) 4 (iv) None of these
(e) If x = a(t + sinf), y = a(1 — cost) then % is :

X

(1) sin% (i1) cos% (ii1) tan(%) (iv) None of these

tx
® ————=dx is:

‘!. V5—x+4/x

1 % (i) 3 (i) 5 (iv) None of these

sinvx .

(2) dx is equal to

155

(i) -2 cosVx (i) 2 cosVx (iii) cosVx (iv) None of these

d? dy’
(h) The order and degree of the differential equation d_{ =1+ (d_yj is:
X X

1 L1 (i) 2,2 (i) 2,1 (iv) None of these
(1) The area bounded by the curve y =x , x — axis and ordinates x =—1, x =2 is :

(1) % sq. units (i) % $q. units (iii) % sqg. units (iv) None of these
) The function f{x) = 2x* + 21x? — 60x + 41 is strictly positive in the internal :

i) (1,0 (1) (1,2) (i) (1, ) (iv) None of these

2
(k) The solution of the differential equation iJ = 1+_yz is
dx  1+x
1) y—x=c(l+xy) (i) x—y=c(l+xy)
(i) y—x=c(l—xyp) (iv) None of these
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Q) The rate of change of area of a circle with respect to the radius 7 at » =6 cm is :

(i) 12mcm (i) 1lmcem (i) 10w cm (iv) None of these
(m)  If A is a square matrix such that A2 = A then (1 + A)®> — 7A is equal to :
i A (i) 1-A (i) 1 (iv) None of these
(n) If ‘ a+ 5‘ = ‘d—l;‘ then the angle between a and b is:
(i) 30° (i) 60° (i) 90° (iv) None of these
(o) A bag contains 9 red, 4 black and 7 white balls. The probability that a ball drawn is not
black is :
: 13 .. 16 o 11 .
) — i) — i) — iv) None of these
@ 0 (i) 20 (iii) 20 (iv)

(p) If three vectors i — j + k,2i + J- k and Ai — J+ k are co-planar then the value of A
is :

i 1 (i) 2 (iii) 3 (iv) None of these
4,2
If 71— x? +\/1— a(x — y) then show that — dy _ L yz_
dx 1-x
x—1 when x<0

i when x =0, then discuss the continuity of /' (x) at x = 0.
X when x>0

If f(x)=

[S)

(a) Evaluate the following interval of monocity of xlog] .
1

(b) Prove that the maximum value of (lj is e°.
X

Evaluate the following integrals :

) dx ..
i _ ii _
@ J‘x2+5x+6 (11) J‘4+5005x
Evaluate :
= “

(1) I i de  (ii) I\/az —xdx
¢ sinx + cosx 0

Solve :

0 dy 3x-4y+2 (i) (dy

2
= - —(efx+ex)d—y+1=0
dx 4x-5y+3 dx dx

()  Provethat: ax (b x &)+ b x(@xa)+éx(axb)=0
(i1) Find the sine of the angle between the vectors
G=20 — j+3kand b =i +3] + 2k.
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1.

[98)

= 0 X A

Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

Multiple choice questions. Each question carries two marks.

6)] Cockroach respires through which of the following organs:

(a) Gills (b) Booklung (c) Trachea (d) Rectal gills
(i1) Which of the following is called round worm:

(a) Ascaris (b) Ancylostoma (c) Fasciola (d) Taenia
(iii))  Which of the following is the characteristic features of Frog skin:

(a) Mucous glands (b) Epidermal scales

(¢) Keratinization (d) Mesodermal scales
(iv)  Male genital aperture of Earthworm are in which of the following segments:

(a) 17t (b) 18t (c) 19t (d) 20t
(v) Rabbit is characterized by the presence of which of the following characters:

(a) Mammary glands (b) Hairs

(c) External ears (d) All of these
(vi)  Glucose is stored as glycogen in which of the organs:

(a) Spleen (b) Kidney (c) Liver (d) Intestine
(vii))  Which of the following endocrine glands secrete glucagon:

(a) Adrenal (b) Islets of Langerhans

(c) Pituitary (d) Thyroid
(viii) Which of the following is called suicidal sac of cell:

(a) Mitochondria (b) Lysosomes (c) Ribosomes (d) Golgibody

Give an account of mouth parts of Cockroach.

Describe the distinguishing features of phylum porifera and classify it up to classes with
examples.

Give an account of digestive organs of Rabbit.

Describe structure, functions and classification of Carbohydrates.
Describe the structure of DNA and its functions.

Describe the ultra structure of Mitochondria.

Describe the structure of Thyroid gland with its functions.

Give an account of Darwin’s theory of natural selection.

Write notes on any two of the following :
(a) Bilateral Symmetry (b) Malaria
(c) Insulin (d) Gizzard of Cockroach
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Answer any Five Questions. Question No.1 is compulsory. Attempt Two Questions from Group 'A'
and Two Questions from Group 'B'. All questions carry equal marks.

1.  Choose the correct answer in the following :-

(1) The correct name of compound/\/ is:

(a) Pent-1-yne (b) 2-Methylbuta-1, 3-diene
(c) But-1-ene-2-yne (d) But-1, 3-diene
(i)  The correct name of compound is :
7NN
|
(a) 3-Ethyl pent-1, 3-diene (b) 3-Ethyl pend-1, 3-diene
(c) 3-Ethyl penta-1, 3-diene (d) e-Ethyl penta-1, e-diene

(iii)  The correct name of compound is :

(a) Penta-1, 4-diene (b) Penta-2, 4-diene
(c) Pent-diene (d) None
(iv)  The compound correct name is :

/NN

(a) Hexa-1, 3, 4-trien (b) Hepta—1, 3, 6-trien
(c) Hepta— 1,4, 6-trien (d) None
(v) Which of the following have asymmetric carbon atom :
(a) CHs-CHz-CHCI-CHs (b) CH:2Br—-CHOH — CH3
(c) CHs—-CHFCI (d) CH;-CHCL
(vi)  Which of the following compound stone geometrical isomerism :
(a) But-2-ene (b) Propem
(¢) 2-methyl-2-butane (d) 2-methyl but-2-ene
(vii) Hybridisation C-atom in benzene is :
(a) SP3 (b) SP (c) SP? (d) SpP3d

(viii) The compound is :
CH3 — CH — CH> — CH3

(a) Cyclohexane butane (b) Cyclohexyl butane
(¢) (2-3 Butyl) Cyclohexane (d) 2-cyclohexly butlyl

Group - A
2. Explain the following:
(a)  Radius Ratio Rule
(b)  Entropy
(©) Free Energy
3. Explain the following terms :
(a) Second law of thermo dynamics
(b) Heat capacity at constant pressure and constant volume (Cp, — Cy =R)

(©) Heat of formation
See Back Page



4.  Write notes on following :-
(a) Buffer solution
(b) Hydrolysis of salts
(©) Emulsion
5. Explain the following terms :
(a) Surface tension
(b)  Colloidal solution and their types
(©) Detergents
Group - B
6.  Write notes on any two of the following :
(a) Nucleophiles and electrophiles
(b) Elimination reaction
(©) Substitution reaction
7. Write the structural formula of following organic compounds :
(a) 3, 3, 3-Trimethyl propane
(b) 3, 3, 3-Trichloropropanal
(©) 2-Methly-4-chlorobutone
(d) 4-Methyl-2-hexanol
(e) But-3-en-1-01
() 2-chlorobuta-1, 3-diene
(2) 2-Amino ethan-1-01
(h) 2-Ehtly propane
(a) Exhibite cis-trans isomerism in But-2-ene
(b) Exhibite cis-trans isomerism in Dichloroethene
(©) What is the necessary and sufficient conditions for a molecule to be optically active?
(d) Does the presence of one chiral carbon atom make the molecule optically active?
Explain.
(e) Exhibite R and S configuration of lactic acid
H
|
CH; - C - COOH
|
OH
9. (a) Aliphatic amines are stronger bases then Ammonia?
(b) Explain the basic character of following order
1° Amini > 2° Amini > 3° Amini
(©) Aromatic amines are weaker bases then aliphatic amine and ammonia?
10. (a) Explain the effect of substituent on the acidity of phenol?
(b)  What happens when phenol reacts with :
(a) Zn (b) CH3COCl (c) NH;3 (d) Core HNO3

*®
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Answer any Five Questions. Question No.1 is compulsory. All questions carry equal marks.

1. Select the correct option in each of the following. Each question carries 1 mark.
(1)  If the focal length (f) is in cm. then the power is expressed as :

@ - ® f © 20 @
f A f
(i)  When light is refracted, which of the following does not change?
(a) wave length (b) frequency (c) velocity (d) amplitude
(iii) Lux is synonymous with :
(a) lumen per steradian (b) lumen per square meter
(c) candela per unit steradian (d) none of these

(iv) If m, and m, are magnifications in the two position of a convex lens in the displacement

method, then :

2 (b)  2m;=m, (c) mlsz d m=—

(@ m =m 5

(v)  The wave fronts of light coming from a distant source of unknown shape are nearly :

(a) plane (b) eppliptical (c) cylindrical  (d) spherical
(vi) The focal length of a normal eye-lens is about :
(a) 1 mm (b) 2cm (c) 25cm (d Im
(vii) If the sign and the radius of curvature of both side of a lens is the some, what will be its
power:
(a) infinite
1
b) —
(b) F;
) f

(d) none of the above, where f'is the focal length of the lens
(viii) If D and frepresent usual meaning, then magnifying power of a glass is :

@ 1+2 ® 2 © 1-2 @ L
A A f D
(ix) The sources are called coherent if they produce waves :
(a) of equal wavelength (b) ofequal velocity
(¢) having same shape of wave front (d) have a constant phase difference

(x) A capdictor of capacitance C is charged to apotential V. The flux of the electric field
through a closed surface enclosing the capacitor is :

@ <L v 2 ©

€, €, 2¢e,

(d) zero

(xi) A wire of resistance 50Q, cutting into 5 equal parts, is connected in parallel. The
equivalent resistance of the combination is :

(a) 20 (b) 10Q (c) 2500 (d) 6250Q
(xii) Magnetic meridians is :
(a) apoint (b) aline along north-west
(c) ahorizontal plane (d) avertical plane
(xiii) The current is doubled, the deflection is also doubled in :
(a) atangent galvano meter (b) amoving coil galvano meter
(c) both (d) none
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10.

(xiv) An LCR series circuit is connected to an alternating current source. At resonance the
phase difference between the applied voltage and the current flowing through the circuit
is:

a) = (b) % e = (d) zero
c
(xv) The de-Broglie wave corresponding to a particle of mass m and velocity v has

wavelength associated with it :

@ ®) A © ™ @ "
my v hv
(xvi) In Bohr’s model of hydrogen atom, the lowest orbit corresponds to :
(a) infinite energy (b) maximum energy
(c) minimum energy (d) zero energy

On the basis of refraction at spherical surfaces, derive the lens maker’s formula.

Discuss deviation without dispersion and dispersion without deviation produced by a
combination of two prisms.

Derive Snell’s law of refraction on the basis of wave theory of light.

State and explain Faraday’s law of electro-magnetic induction. Obtain the value of induced
e.m.f in a coil rotating in a uniform magnetic field.

State and explain Gauss law. Hence find the electric field near an infinite plane sheet of charge
having uniform surface charge density.

Describe the construction and action of a moving coil galvano meter. Explain how it can be
converted into a ammeter?

State and explain Kirchoff’s laws. Discuss its application in wheat stone bridge.

What is Bohr’s model of atom? Discuss this model to explain the series spectra of Hydrogen
atom.

What is a p-n junction diode? Define its dynamic resistance. Explain the function of p-n
junction diode as a rectifier.
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